ASSESSMENT METHOD FOR REUSE POTENTIAL OF
RECLAIMED STEEL ELEMENTS

Gabi Janse
Faculty of Architecture & the Built Environment, Delft University of Technology
Julianalaan 134, 2628BL Delft

ABSTRACT

Steel production stands out as one of the most energy-intensive industries globally. Shifting towards a more
circular system could be achieved by component reuse. Unfortunately, there is lack of information on how to
assess the reuse potential of diverse steel components. This paper focuses on developing an assessment method
for the reuse potential of thirteen common steel product groups, in which components found in three case-study
buildings on the TU Delft Campus are categorized. The research process includes; compiling an inventory of
components, identifying factors impacting the reuse process and conducting a value assessment. Not only can
establishing this method contribute to achieving circular objectives outlined in the TU Delft's Sustainable Vision,
it can also serve as an exemplary proposal to developers to apply this method and implement reclaimed steel
components into their projects.

KEYWORDS: Steel, Component Reuse, Reuse Potential, Value Assessment, Circularity

INTRODUCTION

The building sector accounts for 40% of national CO, emissions. Among the contributors to this
environmental impact, steel production stands out as one of the most energy-intensive and CO2-emitting
industries globally. For example, Tata Steel 1Jmuiden, a major steel producer, is the largest polluter of
the Netherlands (Frisse Wind Nu!, 2023). Shifting towards a more circular system for steel elements,
could be achieved through urban mining. Urban mining is the activity of recovering materials from
anthropogenic stocks, where buildings are one of the most important stocks, since these are responsible
for the highest rates of natural resource extraction (Bender & Bilotta, 2019). Local harvesting is about
mining materials from nearby or regional sources, to reduce transportation emissions and supporting
the local economy (Agudelo-Vera et al, 2012). Component reuse is the practice of salvaging and reusing
specific building elements from existing structures in new/other constructions, aiming to reduce waste
and promote sustainability. The term ‘reuse’ can be divided into conventional reuse; reusing items for
their original purpose, or creative reuse/repurposing; reusing to fulfil a different function (Alaka et al,
2012).

Delft University of Technology aims to achieve carbon neutrality by 2030, aligning with its
Sustainable Vision 2022. However, outdated construction methods have left several TU Delft campus
buildings below current sustainability standards; The Faculty of Electrical Engineering, Mathematics
and Computer Science (EWI), Yellow Chemistry (GS) and Applied Physics (TN) are the first on the
list of comprehensive renovation or demolition (Blom & van den Dobbelsteen, 2019). EWI has one of
the highest energy consumptions on campus and along with its fire-safety issues, its fate has been a
topic of debate. GS faces sale due to its decay and whether to demolish or renovate it, rests with the
new owner. TN ranks lowest in energy performance of all TU buildings (Appendix A, figure 4) (Blom
& Van den Dobbelsteen, 2019). In the Sustainable Vision the goals for reuse and new construction are
established. New buildings should consist of 10% of materials harvested from to be renovated or to be
demolished campus buildings. Of the outdated campus projects, 80% of the materials that will become
available should be reused in new (campus) buildings (Appendix A, figure 3) (Gameren & Van den


mailto:G.J.Janse@student.tudelft.nl

Dobbelsteen, 2022). This is relevant to the urban development of TU Delft Campus South, spanning
320.000 m?, what in the near future will be filled with numerous new campus and office buildings
(Posad Maxwan & TU Delft CRE, 2019). Since steel elements were widely used and applied in
numerous ways during the period the outdated buildings were completed (approx. 1945-1970), it is
advantageous to investigate whether these steel components are suitable for reuse.

A critical issue is the lack of comprehensive information on the availability and reuse potential
of steel components. EXxisting studies predominantly examine primary structural steel, while last-
century construction methods showcase more diverse steel applications (Birhane et al, 2023). Without
a systematic approach to reuse, steel components, despite their potential, may likely end up as
demolition waste. Thus, the objectives outlined in the Vision will not be realized, while contributing to
larger-scale environmental challenges. Therefore, this paper will focus on developing an assessment
method for the reuse potential of steel components that could be applied on the campus buildings and
on other buildings with similar steel product groups, resulting in the following research question:

How can reclaimed steel elements from TU Delft’s outdated campus buildings be assessed for
component reuse?

The following sub-questions will help address the main research question and will also serve as a
guideline throughout this paper;

- Why reusing steel components?

- Which components will be investigated and why?

- Which factors influence the reusability potential of a steel component and how?
- How to convert the reuse potential of the components into a value assessment?

Method

The research involves analysing three campus buildings' steel components guantitatively and
qualitatively to assess their potential for reuse or repurpose. The research process includes; compiling
an inventory of components, identifying factors impacting the reuse process and conducting a value
assessment. The case study buildings will be EWI, TN and GS, as these are currently under debate for
demolition or renovation, driven by TU Delft's sustainability standards. Initial data collection involves
a thorough examination of plans, sections, details, and on-site observations, followed by calculations to
estimate the quantity of available steel components. Building on this quantitative foundation, a detailed
gualitative analysis is conducted, identifying factors that influence the reuse potential for each
component. The level of influence will be determined, by investigating how a factor affects a specific
component. Finally, steel components of the case study can be assessed if they are suited for reuse. A
decision chart is crafted as a tool to decide whether a component can be reused in its original role or if
repurpose would be more suitable.



I. COMPONENTS

During the period from 1945 to the 1970s, various typical building components included steel.
Some of these components have evolved or are used differently today due to advancements in
construction practices, changes in sustainability considerations, and a better understanding of indoor
climate quality. Examples are single-glazed steel windows, steel curtain wall systems, steel roof
decking without insulation, steel HVAC ductwork without insulation, steel construction with limited
fire resistance and steel framing without thermal breaks (Birhane et al, 2023). These components can
be recognized in the case study buildings and contributed to the inadequate environmental and/or safety
performances of EWI, TN and GS. When selecting the case study buildings, the initial focus was not
solely on the quantity of steel in a building. A diverse range of case study buildings introduces more
variables influencing the potential for reuse. For instance, the monumental factor of (steel) components
in GS is significantly higher than that in TN or EWI, thus an interesting building to include. Chapter 2
delves into the specific factors influencing the potential for component reuse.

In Appendix A figure 5, a list can be found with frequently recurring steel elements found in
the case study buildings. Within the timeframe of the study, it is not possible to individually address all
these components to determine their reuse potential. Therefore, it has been decided to categorize them
into representative main categories. The report: Life-cycle assessment (LCA) for steel construction
from the European Commission (2003) describes the findings from a life-cycle assessment study of 16
steel construction product groups. The products selected are considered by the project team to provide
comprehensive coverage of the full range of steel construction products commonly manufactured and
used in The Netherlands, United Kingdom and Sweden. Thirteen of these product groups are building
components and thus relevant to use in this research. In figure 1 these product groups are illustrated,
alongside an estimation of their volumetric impact in cubic meters per product group for each case study
building. The greater the volumetric impact of a component suitable for reuse, the more it enhances the
potential for reuse. This is because there are more identical elements available for design, and reusing
more elements leads to greater environmental savings. It is important to note that the data from the
figure is based on rough calculations and estimations due to the absence of essential drawings. Therefore
it is possible that the voluminous impact in reality is higher than indicated here. In preparation for the
acquisition of reused elements by developers, precise data is needed and a more comprehensive
investigation would be required; in the context of developing a reuse assessment method, an indication
of voluminous impact can be sufficient.

Figure 1 indicates which steel elements are more and less frequently encountered in the case
study buildings. EWI has 19.000 m2 of window surface, involving the 21-story high-rise and the 250-
meter-long low-rise being fully covered with a steel-curtain wall system, explaining the high
voluminous impact of fagade support and window frames. The high voluminous impact of services is a
result of windows being replaced by ventilation grilles and dummy grilles, accounting for 370 m2 of
facade area respectively. EWI has a concrete main structure, supported by heavy steel beams, columns,
and reinforcement bars, surrounded by in-situ cast concrete. TN has also a concrete main structure,
however, the superstructure uses a steel main structure and has profiled decking as roof support. TN
has approximately 7200 m2 of window surface with steel window frames. The ground floor of TN
partly consists of a composite floor decking system. GS is smaller than TN and EWI and instead of a
concrete main structure, it has a steel main structure and lintels carrying the load of brickwork. The
high voluminous impact of steel staircases and railings of GS is a result of all the balustrades inside the
building. In Appendix A figure 1, additional information can be found about the case study buildings.



Staircases and railings

EWI: 52 m3
TN: 2,5 m3
GS: 3,1 m3

Services Doors Windowframes
EWI: 60 m3 EWI: 3 m3 EWI: 34 m3
TN: 14 m3 TN: 2,2 m3 TN: 11 m3
GS: 2,1 m3 GS: 2,1 m3 GS: 2,8 m3

Composite
sandwich panel

EWI: 10 m3
TN: 0 m3
GS: 0 m3

Reinforcement

bars
EWI: 6,3 m3
TN: 5,2 m3
GS: 0 m3

Profiled cladding
or decking

EWI: 2,2 m3
TN: 22 m3
GS: 2,4 m3

Light gauge steel Composite floor

decking system

EWI: 4 m3 EWI: 0 m3
TN: 3,3 m3 TN: 40 m3
GS: 1,7 m3 GS: 0 m3

Heavy Lintel
structural steel

EWI: 190 m3 EWI: 0 m3
TN: 50 m3 TN: 0 m3
GS: 10,2 m3 GS: 4,2 m3

Structural Metal stud
framework wall
EWI: 48 m3 EWI: 9 m3
TN: 5,2 m3 TN: 7,7 m3
GS: 0 m3 GS: 1,1 m3

Figure 1; Steel product groups and indication of volumetric impact per case study building



Il. FACTORS

The following chapters will delve into the factors that most significantly determine the reuse
potential of a steel component. The product categories for steel components chosen in Chapter 1 are
referenced in this context. The factors are categorized into three overarching themes: environmental
impact, costs, and viability. It is important to note that factors are not isolated units but rather influence
each other in multiple areas. This is why certain factors are mentioned in multiple themes.

2.1 Environment

This subchapter begins by explaining the environmental importance of reuse. It provides an
introduction to the cyclic process of steel products, making it easier to comprehend the environmental
impact of a steel product.

The research mentioned earlier in Chapter 1, the report titled "Life-cycle assessment (LCA) for
steel construction from the European Commission (2003)," includes a detailed life cycle analysis of
steel products in Western Europe, particularly in the Netherlands, Sweden, and the United Kingdom. In
this analysis, the cyclic process is divided into 5 phases;

- Phase 1: Production of intermediate steel products
Phase 2: Fabrication of finished steel products
Phase 3: Construction

Phase 4: In-use phase (maintenance)

Phase 5: End-of-life phase

Specific activities included in these phases can be found in Appendix B figure 1. According to the LCA,
the production of intermediate steel products, the fabrication of finished steel products, and maintenance
are phases that, based on total CO2 emissions (kg), waste (kg), and energy consumption (MJ) per phase,
have the greatest environmental impacts. The comparison of emissions, waste production, and energy
consumption per steel product group across phases can be found in Appendix B figure 2. This table
demonstrates that, for each steel product group, production is by far the most polluting process.

Moreover, projections indicate a 30% increase in steel demand by 2050. Alongside emissions,
there is a growing scarcity of raw materials. The escalating demand for new steel production puts
pressure on the natural resources of coal and iron ore (Equify Financial, 2023). To reduce the amount
of polluting production and conserve natural resources, approximately 60% of used steel across all
industries is currently recycled into steel scrap (Bjorkman & Samuelsson, 2014). However, recycled
steel scrap still needs to be processed into a finished intermediate product; a part of the recycling process
thus occurs in the highly polluting phase 1. To understand the extent to which recycling and reuse
impact the environment, it is crucial to examine the sub-processes. The research of Haas et al (2017)
gives a typical overview of the process of reuse and recycling, shown in Appendix B figure 3. After
eliminating all equivalent sub-processes, the system boundary for the recycling process model
encompasses only the demolition, sorting, disposal, shredding, and steel mill processes. The sub-
processes for reuse include only deconstruction, removal, transportation, and cleaning. A detailed
version of these sub-processes can be found in Appendix B figure 4, which focuses on the emission-
producing activities associated with each sub-process.

Where in the report of the European Commission the units of CO2 emissions, energy
consumption, and waste were used to measure the environmental impact, Haas et al uses greenhouse
gasses (CO2, CH4 & N20, (t)), water withdrawals (m3), and conventional air pollutants (t) to measure.
When the pollution from the sub-processes is aggregated, it becomes apparent that reuse is the superior
alternative in terms of the greenhouse gas values of carbon dioxide (CO2), particulate matter (PM10),
sulfur dioxide emissions, carbon monoxide (CO), methane (CH4), and nitrous oxide (N20), as well as
for water withdrawal. The exact values for emission reduction for steel reuse compared to recycling are
listed in Appendix B figure 5.



Geyer et al. (2015) even suggests that new steel structures with approximately 60% recycled content
have an environmental impact 25 times higher than reusing an equivalent amount of reclaimed steel.
Approximately 60 percent of steel is recycled, however, more steel is produced than scrapped, thus
recycled steel constitutes about 40 percent of the total amount of steel produced (The World Counts,
2023).

The higher the environmental impact of a steel product group, the more potential savings can be
achieved through reuse, thus enhancing the product's reuse potential. The report by the European
Commission provides highly detailed environmental impact data for each product group, calculated
using various methods, including the BRE method and Eco-Quantum B. Unfortunately, product groups
were calculated in different units, making it challenging to determine which product groups have a
higher or lower impact. Therefore, the decision was made to determine the environmental impact
through EPD sheets. An EPD is an environmental label and stands for Environmental Product
Declaration. The foundation is formed by a LCA of a product (Allen et al, 2023). Manufacturers can
input the EPD calculation into the Nationale Milieu Database (NMD), based on which the Milieu
Prestatie Gebouwen (MPG) is determined for every new building. Bouwen met Staal (2004) released
EPD values for the five different production processes of intermediate steel products. The steel product
groups from the European Commission's report can be categorized within these values (Appendix B
figure 6 & 7). In an EPD calculation, the environmental impact per tonne steel product is measured in
greenhouse effect, toxicity to humans, abiotic exhaustion, ecotoxicity of water (fresh water), ecotoxicity
of sediment (fresh water), terrestrial ecotoxicity, acidification, over fertilisation, photochemical oxidant
formation and ozone layer depletion. Figure 2 shows the EPD results per product group. These EPD
results are relatively high compared to EPD’s from other building materials like concrete, wood and
synthetics. For further comparison, in Appendix B figure 8 the EPD results of Portland Cement are
included, the component in concrete being most responsible for its poor environmental performance.

Environmental impact per 1 tonne of steel per product group

B Heavy structur a eel, Facade N Lintels, Road barriers m Doorframes, Metalstud wall, m Post coated inner wall components Composite sandwich cladding
structural framework, Services, Light g: panels = iing and
Reinforcing steel Composie floor decking system roofing panels

anno

12
16
kg CO2
-
Y
l 1

%

@

kg 1.4DB kg ethy

kg 1.4DB

Photochemica
oxidant
formation

Greenhouse Abiotic Acidification Terrestrial

ecotoxicity

effect exhaustion

Figure 2; Environmental impact per 1 tonne of steel per product group
(Based on Appendix B fig. 6 & 7)



Because phase 1 of the production process is most determining for the environmental impact of
a product group, the EPD is reasonably representative of the product group, but it remains only an
indication. For more recent and detailed EPD analyses of the selected product groups, there is an online
international EPD database available. Unfortunately, some steel product analyses are revised
periodically, and this data was not available for this research.

2.2 Costs

MKIs (Milieu Kosten Indicator) represent the shadow costs of a product, which are then applied
in the calculation for the MPG. In an MKI, the environmental impact is calculated through an LCA,
after which results are linked to a monetary value (€). MKIs are particularly important for new and
recycled steel products, where the history of the product is known (Quist, 2023). When reusing steel,
the history of the product is often not yet known, and the quality must be determined through costly
inspections. Nowadays, more and more companies are beginning to register the MKI of newly produced
steel in the Nationale Milieudatabase, so that in the future steel components can be reused without most
of these inspections. Until then, reuse is not always cheaper than the usual cycle (Verwoolde Beeld,
2023). The eliminated sub-processes, discussed in chapter 2, for recycling and reuse respectively, show
how much labour and machinery are involved in the recycling process; yet, this is often the cheaper
route (see Appendix B figure 4).

The challenge of reusability is linked to the procurement of appropriate elements in sufficient
quantities during the design phase. The time required to identify and buy components is crucial for
achieving cost savings (Kernan, 2002). Unfortunately, the European market for second-hand elements
is small. As a result, there is a lack of recovery facilities for reused elements and information about
available components from planned and ongoing demolition works. For heavy structural steel,
composite sandwich cladding panels, and profiled cladding and roofing panels, there are already firms
that have some products ready for reuse in storage. Components like window/door frames and metal
stud walls, as well as purlins and rails, are usually only available when directly purchased from a donor
building (Hradil et al, 2019).

In the case of steel products with a low market value, the economic incentive for reuse may be
low or negative due to the costs associated with careful removal, as suggested by Hobbs & Adams
(2017). Companies specializing in deconstruction for reuse are rare, making labour more expensive.
However, if an element can be quickly dismantled, costs could be reduced. Regarding the ease of
disassembly of steel components, see next chapter 'Longevity.'

Furthermore, the steel product must undergo thorough inspections to assess whether the quality
meets the same safety requirements as for new steel, as documented in the Dutch ‘Bouwbesluit’
(Nationale Milieudatabase, 2023). Conducting inspections is one of the most escalating costs.
Inspections have to be carried out by specialists who have the appropriate testing equipment, and
permits must be obtained for the application of certain products. In 2023, a Dutch guideline for
inspections has been introduced for structural steel. This NTA (Nederlands Technische Afspraak)
assists in the creation of an inspection document to verify whether the reusable steel complies with the
Bouwbesluit and NEN-EN 1993 (National Environmental Database, 2023). However, there is currently
no guideline for inspections regarding other steel uses.

Some inspections hold more significance than others; if the strength of the steel no longer meets
standards, the product is unsuitable for reuse. In the case of inadequate water tightness, it may still be
addressed through upcycling: involving the enhancement of the product's quality. It is often the case
that the more a product can endanger the safety of a user, the more inspections including expensive
equipment, the more the costs, thus negatively affecting the reuse potential (Hradil et al, 2019). The
execution of inspections is not specifically dependent on the type of steel product group but rather on
its new application and use in a construction project. Assuming conventional reuse, the figure below
illustrates the degree of inspections per product group. Different colours indicate inspection categories
that involve higher specialization and costly testing methods (red). For a detailed overview of testing
methods of the more expensive inspection categories, refer to Appendix C figure 1.



Importance of inspections:
Inspectionz per steel Structural ) Wind load | Waterproofing _Therm_al ) Soun_d Dimensional
product group safety Fire safely requirements standards |nsq|at_|on |nslulat|0n specifications
criteria  |requirements
Heavy Structural Steel X X X
Structural framewaork X X X
Lintels X X X
Reinforcement steel bars X
Composite floor decking system X X X X X X
Light Gauge Steel X X
Profiled cladding or decking X X X
Metal Studs walls or ceiling X X
Composite sandwich panels X X X X X
Doorframes (exteriorfinterior) X X X
Windowframes X X X
Staircases and railings (interior) X X X
Semnvices (drainageiventilation) X ®

Figure 3; Inspections per steel product group and its importance (Based on Appendix C fig. 1)

Finally, the location of harvesting, storage, and application is important. One of the advantages
of local harvesting is that transportation costs are low. Besides, the compactness level of a product is
important, since more products can be transported with the same vehicle. Depending on the storage
location, it can be more expensive (urban areas) or cheaper (provincial, rural areas). Additionally, the
time between harvesting and application is crucial for storage costs (Gorgolewski, 2008).

2.3 Longevity

The lifespan of steel products is currently inherent to the relatively short service time of some
buildings. Steel products are mostly under-exploited, since the degradation process is much slower than
other building materials. With the correct maintenance, some steel elements can be used for 150-200
years (Cooper et al, 2014). Longevity itself is not considered a factor directly influencing the reuse
potential, it rather functions as an overarching theme formed by several influential factors; performance,
condition, defects, coating and the ability to dismantle for reuse after the service time of a building
(Birhane et al, 2023).

Dismantling refers to the process by which a building is selectively taken apart, where specific
components are carefully removed with the aim of reusing certain or all of its parts. Ease of dismantling
is an important factor in terms of reuse potential. If the process of dismantling a component is
challenging, it can lead to increased costs for reuse and there is a heightened risk of severe damage to
the components, significantly reducing their potential for reuse. The ease of dismantling depends upon
the type of connection between two components of a component group and the assembly hierarchy
between multiple elements of this component group (Durmirsevic, 2003). The types of connections
vary between four categories; direct and indirect, internal and external connections. Direct connections
involve components that are attached to each other in such a way that they can transfer forces directly
when a component moves. In indirect connections, forces first pass through the connecting material.
The internal type incorporates an connection inserted into or in between the two components, often with
the aim of achieving a neat-looking finish. With an external accessory, bolts and nuts or other fixation
devices are visible from the outside, and these are just a bit easier to loosen. In figure 4 variations of
these four categories are arranged based on the degree of impact on the reuse potential of a component.
Direct internal chemical connections, such as welding or gluing, have a negative impact, whereas
indirect external connections significantly enhance the potential. On the horizontal axis, the assembly
hierarchy between multiple components of a component group is depicted. A 'layered’ assembly
indicates a sequential arrangement, introducing dependencies between assembled elements and

8




complicating the substitution process. An 'open' assembly involves a parallel arrangement, significantly
speeding up the dismantling process. At the forefront is the 'stuck’ assembly, where multiple
components are dependent in various ways, resulting in a prolonged dismantling process. The table
indicates several steel product groups with relatively standard types of internal connections, such as
connections in a conventional door frame and a metal stud wall. For other product groups, there are
often multiple options regarding the type of connections, and the connection will therefore need to be
assessed on-site. The figure is based on a compilation of data from E. Durmirsevic's research;
"Transformable building structures: for disassembly as a way to introduce sustainable engineering to
building design & construction” (2006). In Appendix D her original figures can be found, including
examples of the connection types.

Type of Reuse potential of steel products by type of

connections between connection and assembly
two components

cl metal click alternative
Direct click connection B e e s s o s e R, T e P e S 8 ~door frame ———
5 (x)
2 7 ()
Indirect external connection with o 7
additional fixing devices to E Maximal reuse
independent connection device * o) e Rt o e Ll el L el e Lo c ol e e e b el i et 1
\
door frame )
Indirect external connection via A
independent connection device ** )
\
-------------------------------------------------------------- A
'
Indirect internal connection via metal stud )
dependent connection device g
® =
|
Direct connection with additional :
fixingdevices @ NN = [oocoooteorrsaressssssscerensssnaseesess ] )
|
;
Indirect chemical connection A
\
--------------------- )
\
:
Direct snap-fit connection )
composite steel /]
floor :
Direct chemical connection @ i 5
} Reuse potential
: Ll
< C']ar'gm one element does not Type o'
affecf other element or the connection assembly between
covce multiple elements of
** Changing one element does not same component group
affect other element
‘Stuck’ Sequential Parallel
assembly ‘Layered' assembly ‘Open’ assembly

Figure 4; Reuse potential of steel products by type of connection and assembly (Based on
Appendix D; Durmirsevic, 2006)

Where dismantling often requires only a visual inspection, determining performance and
defects, often necessitates a more thorough inspection with special equipment. When it comes to the
performance of a steel component, it involves strength, stiffness, and hardness. Strength refers to the
degree to which a material can withstand applied forces without permanent deformation or fracture,
stiffness is the degree of elasticity under deformation, and hardness is the resistance to deformation
under a point load (NTA Hergebruik Staal, 2023). Through destructive testing (DT) and non-destructive
testing (NDT), these factors are measured to determine the safety in case the steel component will be
reused. NDT’s keep the material intact but are often more expensive than DT’s. An example of a DT
to determine hardness is to press a diamond indenter into the component to measure the Vickers value,
for which an ultrasonic hardness meter would be used ina NDT. Furthermore, it is important to examine
the chemical composition of the component. Other materials than steel may be encountered that are not
easily visible, such as welding material. A portable optical emission spectrometer (NDT) measures the
carbon equivalent (CEq) and weld crack sensitivity, negatively affecting the hardness of a material
(Fujita & Kuki, 2016). When it comes to defects, it involves bends, dents, cracks, and holes, whether

9



visible or invisible to the naked eye. For internal defects, ultrasonic testing can be conducted to assess
their severity. The condition refers to the surface condition of the material, often dependent on the
degree of rust formation (Birhane et al., 2023). Rust is the corrosion process where iron on the surface
of a steel component oxidizes, and this can weaken the component if left untreated. To prevent
degradation due to rust, various protective measures are applied, including the application of coatings,
galvanizing (applying a thin layer of zinc), rust-resistant paints, and regular maintenance (Marder,
2000). Coatings can also be important for fire safety. Often used coatings are paint coatings based on
epoxies or polyurethanes, or powder coatings. When assessing rust formation and coatings, a visual
inspection is often sufficient. In case of uncertainty, the effectiveness of the preservation can be
measured through methods such as magnetic thickness measurement (NDT) or salt spray testing (DT)
(IGOS, 2023).

Independent of the concept of longevity but partly dependent on similar factors, there is also
aesthetic value. This is a subjective factor. The type of coating, the amount of rust and defects, and the
appearance of connections can influence the aesthetical value of steel components. Aesthetic value is
often high in elements with monumental significance; characteristic features from a particular (time)
period (Goldman, 1990).

Often, one representative component from a component group is chosen to test, to save time. A
component is considered representative for its group, when it comes from the same manufacturer and
production period, has experienced similar forces and has been under similar weather conditions.

I11. VALUE ASSESSMENT

In the value assessment, the steel product groups from the case study buildings are categorized
and measured against the factors influencing their reuse potential. In table 1 (EWI), table 2 (TN), and
table 3 (GS), the factors discussed in the previous chapters can be found under their main themes. It is
noteworthy that ‘ease of dismantling’ is placed under costs, and ‘demountability’ under longevity.
Distinguishing these is important, as a component may be demountable but dismantling it may be
labour-intensive and requires expensive, heavy machinery to effectively remove it from the building.
Additionally, aesthetic value is placed under longevity to keep the table organized, but as the only
subjective factor among the objective ones, it should actually be considered a separate main theme. The
tables below provide a simplified overview of the tables found in Appendix E figure 1, 2 & 3. The
rating consists of three values, where red indicates a negative, yellow a neutral, and green a positive
impact on the reuse potential. Slashes indicate that a steel product group is not or hardly represented in
the building or that the reuse of a product is not influenced by a certain factor. For example, a coating
may not be present because it was not needed or because it concerns stainless steel. Furthermore, crosses
are placed under performance and defects because the impact of these factors cannot be determined
without the assistance of special measuring equipment, which was not available for this research. When
filling in the value assessment, it was assumed that elements from the case study buildings were reused
in new construction on campus, to align with the plans in the Sustainable Vision of TU Delft.
Considering that the TU has sufficient storage space, transportation occurs on a local scale, and supply
and takeover are handled by the same entities, the product groups only have positive values for these
factors.

Given that the environmental impact of steel elements is already relatively high compared to
other building materials, which would result in a monotonous valuation, the assigned value here is
determined by comparing steel EPD’s to each other. This demonstrates on an environmental level which
steel products in a building are more interesting to reuse than others. In terms of volumetric impact, a
high or low value of the voluminous impact (m3) of a product is determined relative to the total steel
volume per case study building. In case the value assessment is not per building, and the amount of
steel in the three buildings should be compared, it is more convenient to measure the volume in tons/m?
GFA. It is important that environmental impact is considered in combination with volumetric impact to
determine the reuse potential more accurately. Heavy structural steel, due to its higher reuse and
recycling percentage, has a lower EPD value than other steel products but exceeds in terms of volume,
thus having a neutral and positive value in the table. Window frames are only having positive ratings

10



in this area. However, the total environmental impact of heavy structural steel is higher than that of
window frames. Furthermore, it may be that reusing elements with a high environmental impact can
yield certain economic benefits, such as through the subsidieregeling circulaire economie (SCE),
Milieu-investeringsaftrek (MIA) and Willekeurige afschrijving milieu-investeringen (Vamil)
(Rijksdienst voor Ondernemend Nederland, 2024). Therefore, depending on its application and
corresponding subsidies, reusing heavy structural steel may result in lower costs than other product
groups, although the values in the table indicate otherwise.

Environment Costs Longevity
Value assessment steel | Environ- Ease of .
product groups EWI Vglumetnc mental Procure- Ins_;pec- dismant- | Storage | Transport Demlo_un- Perfor- Condition| Defects | Coating Aesthetical
impact impact ment tions ling tability mance value
Heavy Structural Steel ) @) [¥] (%] (%] (V] (V] [x] X (V] X (@) (V]
Structural framework ® @] (¥] [x] () [¥] [¥] @ X (V] X [!] ()
Lintels / / / / / / / / / / / / /
Reinforcement steel bars [v] (@) (] () [X] (] [~] [X] X (@) X / /
Composite floor decking system / / / / / / / / / / / / /
Light Gauge Steel Q [ [ 1) 1) [ [ o X (] X (V] [}
Profiled cladding or decking 1) @) (¥] (@) [v] [¥] [¥] @ X (@) X [1] (@)
Metal Studs walls or ceiling [x] @ @ (@) [X] [¥] [¥] [X] X / X (V] /
Composite sandwich panels (@) @) (V] (1] [¥] o Q (V] X () X (] V]
Doorframes (1] @ [¥] [¥] Q [¥] Q [v] X V] X (1) o
Windowframes ) ) ) ) %) [V) Q [x] X () X (@) o
Staircases and railings (@) (@] (/] [x] (@) Q Q [~] X (@] X [ !] (1]
Services o (V] (V] o o V] (] o X o X / (X}
Table 1; Value Assessment of steel components EWI
Environment Costs Longevity
Value 1t steel . | Environ- Ease of "
product groups TN Vqlumetrlc mental Procure- In_spec- dismant- | Storage | Transport Demoun- | Perfor- Condition | Defects | Coating Aesthetic
impact impact ment tions ling table mance value
Heavy Structural Steel V) (@) Q [x] (@) [¥] o o X (/) X (] (]
Structural framework (@) (@) V] [x] (@) (V] Q (V] X @ X Q Q
Lintels / / / / / / / / / / / / /
Reinforcement steel bars (@) (1) o (%) ) (] ] (X] X (V) X () /
Composite floor decking system @ (V] (V] (%] [x] @ ) (%] X ) X ] /
Light Gauge Steel [x) Q Q @) (¥] Q Q Q X (V] X /) (/]
Profiled cladding or decking @ () V] (@) (V] (V] Q (V] X (1) X Q ]
Metal Studs walls or ceiling (@) Q V) (@) [x] (V] Q [x] X @ X @ @
Composite sandwich panels / / / / / / / / / / / / /
Doorframes Q (V] V] (V] (V] @ Q (V] X ) X ] (/]
Windowframes @) (V] Q (V] [X] @ Q [X] X (@] X (1) (@)
Staircases and railings [x] (@) @ [x] (@) @ [~] [®) X (V] X ) [X]
Services o ] (/] (V] (V] (V] ] (/] X () X / o
Table 2; Value Assessment of steel components TN
Environment Costs Longevity
Value assessment steel | Environ- Ease of :
product groups GS Vqlumetnc mental Procure- In;pec- dismant- | Storage | Transport Demoun- | Perfor- Condition | Defects | Coating Aesthetic
impact | . ment tions ) table mance value
impact ling
Heavy Structural Steel @) (@) Q (%] [x] Q Q [x] X [x] X [x] (@)
Structural framework / / / / / / / / / / / / /
Lintels o [1) [ Q [x) Q [ [x) X [X] X (%] o
Reinforcement steel bars / / / / / / / / / / / / /
Composite floor decking system / / / / / / / / / / / / /
Light Gauge Steel [ ) [ [1) @) %) ) [0) X [1) X (%] (%]
Profiled cladding or decking [X] [@) (V] (@) Q Q [V] [V] X Q X (X] (V]
Metal Studs walls or ceiling [x] (V] (V] (@) [x] Q [v] (%) X (@) X (%] (%]
Composite sandwich panels / / / / / / / / / / / / /
Doorframes %) ® ® ) ) Q Q Q X (@) X (@) (/]
Windowframes [x] @ @ V] [X] Q Q (%) X (1) X ()] (V]
Staircases and railings (@) (@) [~] [x] [®) Q [¥] (@) X (@) X o (V]
Services (X] (V] (V] (V] (] o V] o X (x] X / (%]

Table 3; Value Assessment of steel components GS

11




Some factors are fixed; when a steel product no longer meets the requirements in terms of
performance or defects, it immediately fails to meet the criteria of conventional reuse. Perhaps a suitable
repurpose can still be found. Some factors are flexible; when there is a high budget available and all
deteriorated coatings can be replaced, it reduces the impact of the factor ‘coating’ on the reuse potential.
If these factors have a negative impact, conventional reuse is not necessarily ruled out; this often
depends on time and budget. A decision chart balancing fixed and flexible factors for some steel
products has been prepared, which can be found in Appendix E figure 4.

Overall, components most suitable for conventional reuse according to the value assessment of
EWI are steel profiled cladding or decking, doorframes and composite sandwich panels. Also service
systems are still suitable for reuse, although ventilation grilles on the facade show some slight wear and
tear. Structural framework can be interested to reuse, depending on budget. Heavy structural steel,
reinforcement bars and steel window frames are due to its high costs for reuse and stuck assembly, an
unfavourable choice for reuse. The value assessment of TN shows that the heavy structural steel of this
building, especially found in the superstructure, is suitable for reuse. Besides, light gauge steel,
structural framework and service systems have a high reuse potential. Also profiled floor decking and
cladding can be interesting to reuse, although a new coating should be applied. Lastly, the staircases
and railings, including thread and raster plates, interior doors and characteristic windows of partition
walls of GS, are suited for reuse. Here it is highly unfavourable to reuse heavy structural steel and
lintels.

CONCLUSION

To conclude on the research question; ‘How can reclaimed steel elements from TU Delft’s
outdated campus buildings be assessed for component reuse?’, it is important to identify all the factors
influencing the reusability potential of a steel component. Divided into the three main themes
environment, costs and longevity, these factors are volumetric and environmental impact, procurement,
inspections, ease of dismantling, storage and transport, demountability, performance, condition,
defects, coating and aesthetical value. In a value assessment, these factors are measured against thirteen
steel product groups common in Western Europe in which components found in the case study buildings
are categorized. The more factors a steel product scores positively on, the more suitable the component
is for reuse. It is important to notice that factors can be distinguished as flexible and fixed. Often
depending on time and budget of a project, the level of influence of a flexible factor on the reuse
potential may vary.

12



REFERENCES

Agudelo-Vera, C. M., Leduc, W. R. W. A., Mels, A. R., & Rijnaarts, H. H. M. (2012).
Harvesting urban resources towards more resilient cities. Resources, Conservation and Recycling, 64,
3-12. https://doi.org/10.1016/j.resconrec.2012.01.014 Alaka, H., Charef, R., Morel, J., & Rakhshan,
K. (2020). Components reuse in the building sector: A systematic review. Waste Management &
Research, 38(4), 347-370. DOI: 10.1177/0734242X20910463

Alaka, H., Charef, R., Morel, J., & Rakhshan, K. (2020). Components reuse in the building
sector: A systematic review. Waste Management & Research, 38(4), 347-370. DOLI:
10.1177/0734242X20910463

Allen, S., Hattam, L., & Marsh, E. (2023). Tackling uncertainty in life cycle assessments for
the built environment: A review. Building and Environment, 231, 109941.
https://doi.ore/10.1016/i.buildenv.2022.109941

Bender, A.P., Bilotta, P. (2019). Circular Economy and Urban Mining: Resource Efficiency in
the Construction Sector for Sustainable Cities. In: Leal Filho, W., Azul, A., Brandli, L., Ozuyar, P.,
Wall, T. (eds) Sustainable Cities and Communities. Encyclopedia of the UN Sustainable Development
Goals. https://doi.org/10.1007/978-3-319-71061-7_40-1

Birhane, M., Fishwick, R., Kanyilmaz, A., et al. Reuse of Steel in the Construction Industry:
Challenges and Opportunities. Int J Steel Struct 23, 1399-1416 (2023).
https://doi.org/10.1007/s13296-023-00778-4

Bjorkman, B., & Samuelsson, C. (2014). Recycling of steel. In Handbook of recycling; State-
of-the-art for Practitioners, Analysts, and Scientists. (pp. 65-83). Elsevier.

Blom, T., & Van den Dobbelsteen, A. (2019, July 25). CO2-roadmap TU Delft. Finale versie
2.9 190725. TU Delft, Faculteit Bouwkunde, Afdeling Architectural Engineering + Technology,
Leerstoel Climate Design & Sustainability

Cembureau. (2020). Environmental Product Declaration (EPD) according to EN 15804 and
ISO 14025: Portland Cement (CEM 1) produced in Europe.

Cooper, D. R., Allwood, J. M., Moynihan, M. C., & Skelton, A. C. (2014). Component level
strategies for exploiting the lifespan of steel in products. Resources, Conservation and Recycling, 84,
24-34.

Durmirsevic, E. (2006). Transformable Building Structures; Design for disassembly as a way
to introduce sustainable engineering to building design & construction. Proefschrift voor verkrijging
van doctoraat, Delft University of Technology, Netherlands.

Durmirsevic, E. & Noort, N. (2003). Reuse potential of steel in building construction. Delft
University of Technology, department of Building Technology, Netherlands.

Duurzaam in staal. (2004). EDP sheet of Steel production groups. Via Bouwen met Staal.
https://www.sustainableinsteel.eu/p/534/the Ica of steel.html

Equify Financial. (2023). The Steel Shortage, Rising Prices, and How It Affects the
Equipment Market: The reality of the Steel Shortage. Blog on Equify
Financial .https://www.equifyfinancial.com/blog/article/the-steel-shortage-rising-prices-andhow-it-
affects-the-equipment-market

13


https://doi.org/10.1016/j.buildenv.2022.109941
https://doi.org/10.1007/978-3-319-71061-7_40-1
https://doi.org/10.1007/s13296-023-00778-4

European Commission, Directorate-General for Research and Innovation, Sansom, M.,
Meijer, J. (2002). Life-cycle assessment (LCA) for steel construction : final report, Publications
Office.

Frisse Wind Nu!. (2023). Feiten & cijfers over de impact van Tata Steel. Cijfers via RIVM.
Via https://www.frissewind.nu/ feiten-over-tata-steel

Fujita, M., & Kuki, K. (2016). An Evaluation of Mechanical Properties with the Hardness of
Building Steel Structural Members for Reuse by NDT. Metals, 6(10), 247. https://doi.org/10.3390/
met6100247

Gameren, D., & Van den Dobbelsteen, A. (2022). Sustainable Vision: Ambition and Action
Plan for a Climate University. Via https://research.tudelft.nl/ Gameren, D. & van den Dobbelsteen, A.,
(2023). The Sustainable Campus: Working towards a Carbon-Neutral University. In Measuring Net
Zero: Carbon accounting for buildings and communities. Roaf, S. & Finlayson, W. (eds.). Ecohouse
Initative Ltd, p. 273-285 12 p.

Geyer, R., Henderson, A., Kuczenski, B., & Zink, T. (2015). Common Misconceptions about
Recycling. Journal of Industrial Ecology, 20(5), 1010-1017. https://doi.org/10.1111/jiec.12355

Goldman, A. H. (1990). Aesthetic Qualities and Aesthetic Value. The Journal of
Philosophy, 87(1), 23-37. https://doi.org/10.2307/2026797

Gorgolewski, M.(2008). Designing with reused building components: some challenges.
Building Research & Information, 36:2, 175-188, DOI: 10.1080/09613210701559499

Haas, C., Walbridge, S., Yeung, J., et al. (2017). Understanding the total life cycle cost
implications of reusing structural steel. Environmental Systems and Decisions, 37, 101-120.
https://doi.org/10.1007/s10669-016-9621-6

Hobbs, G. & Adams, K. (B017). Reuse of building products and materials — barriers and
opportunities. International HISER Conference on Advances in Recycling and Management of
Construction and Demolition Waste.

Hradil, P., Sansom, M., Ungureanu, V., & Vares, S. (2019). Economic potential and
environmental impacts of reused steel structures. Structure and Infrastructure Engineering:
Maintenance, Management, Life-Cycle Design and Performance, 16(4), 750-761.
https://doi.org/10.1080/15732479.2019.1664055

IGOS. (2023). Coating Thickness Measurement: destructive and non-destructive measuring
techniques. Via https://www.igos.de/en/services/coatings-analyses/coating-thickness-measurement

Kernan, P. (2002). Old to New Design Guide: Salvaged building materials in new
construction. Greater Vancouver Regional District Policy & Planning Department

Marder, A. R. (2000). The metallurgy of zinc-coated steel. Progress in materials
science, 45(3), 191-271. Elsevier.

Nationale Milieudatabase. (October, 2023). NTA-8713 hergebruik van staal voorziet in een
behoefte. https://milieudatabase.nl/nl/actueel/nieuws/nta-8713-hergebruik-van-staal-voorziet-in-een-
behoefte

NTA Hergebruik Staal [werkgroep]. (2023, June). Nederlands Technische Afspraak (NTA)
8713. Hergebruik van constructiestaal. Via Stichting Koninklijk Nederlands Normalisatie Instituut
(NEN).

14


https://doi.org/10.1111/jiec.12355
https://doi.org/10.2307/2026797
https://doi.org/10.1007/s10669-016-9621-6
https://doi.org/10.1080/15732479.2019.1664055
https://www.igos.de/en/services/coatings-analyses/coating-thickness-measurement
https://milieudatabase.nl/nl/actueel/nieuws/nta-8713-hergebruik-van-staal-voorziet-in-een-behoefte
https://milieudatabase.nl/nl/actueel/nieuws/nta-8713-hergebruik-van-staal-voorziet-in-een-behoefte

Posad Maxwan & TU Delft CRE. (2019). Concept 5.0: TU Delft Campus Zuid
stedenbouwkundig plan. https://www.tudelftcampus.nl/wp-
content/uploads/2021/08/190606 Eindrapport SP_ TU Delft Campus Zuid CONCEPT 5.0 screen.
pdf

Quist, Z. (2023). Wat zijn schaduwkosten? Milieu impact en LCA. Via Ecochain.
https://ecochain.com/nl/blog/wat-zijn-schaduwkosten/

Rijksdienst voor Ondernemend Nederland. (2024). Gebouwde omgeving en MIA\Vamil. Via
https://www.rvo.nl/subsidies-financiering/mia-vamil/ondernemers/gebouwde-omgeving

The World Counts. (2023). Tons of steel recycled.
https://www.theworldcounts.com/challenges/planet-earth/mining/advantages-of-recycling-steel

Verwoolde Beeld, L. (2023). MKI behoort tot de laagste van Nederland. Beton& Staalbouw.
Van Ee staalspecialisten. https://www.betonenstaalbouw.nl/artikel/mki-behoort-tot-de-laagste-van-
nederland

15


https://ecochain.com/nl/blog/wat-zijn-schaduwkosten/
https://www.rvo.nl/subsidies-financiering/mia-vamil/ondernemers/gebouwde-omgeving
https://www.theworldcounts.com/challenges/planet-earth/mining/advantages-of-recycling-steel
https://www.betonenstaalbouw.nl/artikel/mki-behoort-tot-de-laagste-van-nederland
https://www.betonenstaalbouw.nl/artikel/mki-behoort-tot-de-laagste-van-nederland

APPENDIX A — CASE STUDY DATA

Figure 1 : Map of TU Delft Campus North with the case study buildings in red

EWI

TN

16



Figure 2 : Additional information case study buildings EWI, TN and GS

Picture 1; EWI (Dylunio Architectuur, 2024)

EWI has 19.000 m? of window surface, consisting of single and double
glazing in steel window frames, connected to an extensive framework of
vertical and horizontal steel profiles. Both the 21-story high-rise and the
250-meter-long low-rise are fully covered with this steel-curtain wall
system on the North-East and South-West sides. During the construction of
EWI, double glazing was still in development and, moreover, expensive.
Only the low-rise has some double glazing on the west facade. In the other
parts, the fastening and sealing material putty, holds the single glazing and
Colourbel glass in place in the steel frames. In vertical stripes on the facade,
the glass has been replaced with steel ventilation grilles and dummy grilles,

accounting for 200 m? and 170 m? of facade area, respectively. The facade

structural support, mainly vertical IPE 80 and horizontal H100 profiles, are
attached with bolts to steel anchors embedded in the concrete floors. Whether
it is about renovation or demolition of EWI, the entire steel-curtain wall
needs to be replaced with a sustainable and fire-resistant alternative. The
concrete main structure is supported by steel beams, columns, and
reinforcement steel, surrounded by in-situ cast concrete. Another part of EWI
that contains many steel components is the high-voltage hall, but it has
received the national steel award for its sustainable renovation and, therefore,
will no longer be considered for demolition or renovation.

Concrete is the most commonly used construction material in TN, with
reinforcement steel playing a significant role. The ground floor consists of
a so-called steel plate super floor, meaning in-situ poured concrete on top of
a thick corrugated steel layer. Similar to EWI, steel windows with single
glazing were applied. These rectangular steel frames can be found in the
facade of the entire building, except for the superstructure. The steel window

assembly in the main block accounts for 2400 m? of facade and if the wings

are included, this surface area becomes many times larger. Corrugated steel
cladding has been applied in the facade under certain window assemblies for
aesthetic reasons. TN has a superstructure, consisting of the third floor of
Wing E on the southeast side and the fourth floor of the main block on the
southwest side. This elongated superstructure has a steel main structure,
with heavy beams such as IPE 220 and IPE 200 profiles, backed up by HE-
180-A/HE-140-A profiles. The superstructure mainly comprises offices
separated by metal stud walls between steel square tube profiles. The roof
consists of corrugated steel decking with insulation on top. A false ceiling
is attached to small steel profiles, concealing a ventilation system made of
steel pipes.

5

Picture 3 ; Gele Scheikunde (Eigen afbeelding)

GS consists largely of steel elements. General European designations for
profiles did not exist yet at the time of construction. Some profiles are
indicated by the Differdingerse standard (such as DIE and DIN, predecessors
of HEA and HEB), and some follow the German standard (such as INP,
predecessor of IPE). The construction of the outer walls consists of steel INP
340 columns between which steel lintels are attached, carrying the weight of
the brick wall to the main structure. Steel frames have been used for the
single-glazed windows in the facade. Inside, there is a large, extensive steel
balustrade spanning two floors. This balustrade is entirely composed of DIE
columns and INP/UNP beams, with floors of alternately poured concrete,
perforated steel plates or tread plates, and steel railings. Inside the tall tower,
there are steel stairs, railings, and grid plates as floors. UNP profiles have
been used as roof gutters.

17




Figure 3 : Goals for new buildings in Sustainable Vision 2022 (Gameren & Van den Dobbelsteen,

2022)

Circulair

X% van het materiaal is geoogst uit bestaande

Materiaalgebruik
gebouwen

X% van de vrijgekomen materialen vanuit TU Delft
| Campus worden hergebruikt in het gebouw

X% van de gebruikte materialen in het gebouw zijn
| circulair (PM circulair -> definitie nodig)

X% van het gebruikte materialen/producten worden
Materiaal registratie geregistreerd (e.g. materialenpaspoort, centrale
database)

Materiaalgebruik

Materiaalgebruik

Goals new building, circularity TU Delft (Sustainable vision, 2022)

Part of Appendix C of the Sustainable vision TU Delft

Doel

10%
(Hangt van
aanbod af)

80%

80%

100%

Figure 4 : Total energy use of TU Delft campus buildings in 2018 (Gameren & Van den Dobbelsteen,

2022)

20.000 TN (physics building)
18.000
16.000
14.000
12.000
10.000
8.000

6.000
4.000 I I
2.000
o, 1m_N1 f
2. & b3

m n O

EWI

20 .
21 N
22 .
23 N
32 .

32dc

28 W

30 B

31

'3
-

36EKL Wl

37 )

0
m

SO N

58
=
I
=]

29 833833838

~
wn

The total energy use of the TU Delft campus buildings monitored in 2018 (Sustainable vision, 2022)

Dark colour indicates educational spaces and offices; light are research functions and labs

18



he

int

In case study buildings most common steel components, divided into categories used

Figure 5

(2002)

1ssion

report of the European Comm

SMOPUI [
sio0j} Iy
100)) punoIy
00 1y -3sT

Jooy 1y -7

100} Ut / 100} PIE
100y Wy [ 100} pig
1001 Wt [ 1001 g
100}4 U / 100} pIE
100} Ut / 100} PIE
100y Wy [ 100} pig
100} Wt/ 100 I
100}4 Ut / 100} PIE
100} Ut / 100} PIE
100y Wy [ 100} pig
100} Wt/ 100 I

puiy o1 2524Mm

WOSKOQT |2y 35U Mo

a5u Mo

UEH

UEH

35U YSIH

35U YSIH
10pLIO? BURIBLUOY 35U MO
10pLIO? BURIBLUOY 35U MO
JOPIIET BURIAULOD 35 MO]
10pIU0] BURIAULOD 35U MO]
UEH
UEH

W UEH
35U mo7 /251 YSIY
35U Mmo| /351 ySIH
35U mol/yS1y 3|oud |23En

3su mo) ajoudl £33

251 4By 3)40ud [RuozLOH
25U LEH
351 yB1Y 3|oJd [e3u0ZUOH

puly 03 353uM

d) (yoou) Jo0j) pUnIn

WIMOPUIM (3235 L3 SUIZe|3 3|gnop 2J2 SMOPUIM |y

sieq

3315 JU3WADI0JUII LYW SIOOJ} EJS 2103 MOJ|0Y 3121UGD
2)317L0J NYIS Ul PAIOJLIBI Y} P3SN A|3YIS0dW0I SUI3P 3315 pajyold
S3WELPMOPUIM 3335 J3PUN P3SN AjjeanaLasae Apsopy
3UlY (3305 JOUZTXE 0] PAI3ULOI JBLMOPUIM 3315
3l (3335 JOURYE 0] PA1IALLOD JWRIL0OP 3315
{AD) wa1shs 301Uas Jo 35eIan0]

55/023 A1133}3 Jo s3did oy 3gnL

Aem)jey u) puosed auano) Suljied aed
(¢Funeagpeo)) 2peaeyapun
aINPNAs 5|/eMm UoNLEg
5391340 5|2 uoyed sy
3pisane o peajsul BUIp|ing YENOIYA ViH
5,027 3d| US3MIAG UOINISUOD AllEpUNIaS
LORINBSUOI Joo) Fuuesg

J3A2] SNOUIINYG PU LOZ|NSUL LA SUPIIP J0OY

2in33n435 J00J Bupesq 0ZZ 34l J3pUN

UDIjEWIOJUI [EUORIPPY

{2 1124 2N1I3| M) [|2Y 35U MO| 33 O 3pedey BUD| W OOT 3Y3 13400

2UNYINIS JOOJ P3USAS|13URD 3U3 Woddns of

23213007 03 53/00 Y3IM ‘S1210U0D 22 SEs (33 Buljey
1003 33210U03 Ul paunod Jooj 33200003 Suipoddns weag

1003 33210U03 Ul paunod Jooj 33200003 Suipoddns weag

10pLI03 10 washs sZeuizig
100}3 ;1317003 Buiioddns Lwnjo3
Jooy 33312007 Surpoddns weag
100)4 333,3u00 Suiuoddns weag
S19NP [BUUOU 1§ ALIWND 305 L3I SALIBIPMOPUIM 3335 OF PA1I3ULCD
“OMEWIR) 3PEDE) U] ‘SWEIMOPUIM B J0 JuzWaDe|day
J00|3 31313U02 J3PUN |l2UR3UE 03 PR12EULCY

S MOPUIM

Hoddns 3pedey 03 pa1I2UU0D (2235 Lo pan|F sse|n
3pese) swel an0

spedey swes3 =30 Suip|Ing ss5p3

00|} 0} 3WBLMOPUIM LOIIZULOD

oM WEN 3PRIRS 01 J00() UORIZULO3 J00))

25U03 03U pRInGd
100}4 03 3URLIMOPUIM LORIZULO)

UDIIBWLIOJUI [BUOIIPPY

S3WEI) MOPUIA
5JBq [3305 JUEWAOUIRY
wajshs 3uiyd3p Jooy susedwor
SuIppep pa|IeId
S3WEI) MOPUIA
saweipo0g
a5e13n00
s331035

[2315 38ned N

215 [RINIANAS AEaH
oddns [eannas (apeded)

B B3 (2331

13

215 [RINIANAS AEaH
8335 [eam3nUs Aneay

Suiydap pajyolg

15 [BINIINAS AnEH

1wauodwo? 4o uoauny

SUp{I3p Jo BUIpPe]d P3|0ld

3315 [IN1oNAS ARy

s5UJ|j2) pue s25E1235

2335 |RIN1INS AnesH

215 [RINIaNAs AeaH
EERINES

3515 [amans Anesy

3335 [Eanyanus Aneay

3315 [IN1INLS AveaH

35
Buiyasp Jo Buippe|a p3|iold

15 [2INIINLS ARy

EEEIERLG)

JWel MOPUIA
naddns [eimonns spevey
paddns [eimonos spevey
‘poddns [eimpnas 3pedey
yoddns |einyonis apeded
yoddns |einyonis apeded

JuaUOdWod 4O UORIUNY

JSIA 3YS UG
890-10-£0-2Z ue|d Joojd
890-10-£0-77 ue|d Jooj4

EELT-6065LEVY-TE 51230

EELT-6065LEVY-LT 51230

CELT-B085LTYY-2T 5|IE320

¥88-0886/TWV-2T 5//8330

¥288-088SLTVY-IT

[L2EN]
¥288-0885LTVY-IT 51220

¥88-08R5LZVV-2T 5/®30

¥88-0886/TWV-2T 5//8330
¥88-08BSLTVV-CT 52120

788-08R5LTVV-IT 51®=20

¥88-08R5LZVV-2T 5/®30
¥88-0886/TWV-2T 5//8330
698-088SL2VY-TE S|P
698-088C.L2VY-22 S|IF13d

uRWNI0p paAaLIRY

ysin s
TZ0T-020-9€ 5112330
2070020-650-3€ SUoR23S
2070080-650-9€ SUOR23S

207 0080-6E0-9E SUORIAS

+020-E20-9€ 518330/ T0B0-6E0-9€ 5UOIRIAS

£00-T0-T0-9€ 5U0na35

£00-T0-T0-9€ 5U0na35

£00-T0-70-9¢ sUolasg

£00-T0-T0-9¢ sUDRI=S

LOTO-£70-9€ 512320

90Z0-£70-9¢ 51320

£0Z0-£70-9¢ 51:=20

£0Z0-£270-9¢ /1230
TZ0T-020-9¢€ £|1:30

STZ0-£20-9€ 5)'833Q

TLOT-0T0-9€ 5/;=g
+/6020-E20-9€ 5112330

T0Z0-£70-9€ 5|20

T0Z0-£70-9€ 5|20

JUAWNIOp PAAILITRY

/
oT |1=Rg
(Zp-343158W) ¥'H uond3s.

0330

[BIIH3A UDIIZS
zeR=g
|EJUOZUIOH/|E3ILBA UOII3S
|BIUOZUIOH/[2I13A O3S
[CERIEINILLEER
[E33A UORIRS

|E31p3) uonIag

(1-50) T 1330

PR
6/8/L I112a
35U UBIH 8-8 UoRdas
35U YBIH §-8 Uodas
35U YBIY (¢ )v-v uoiaas

U YEIH 8-8 Uona3s TT 1R
JOpLUOD §-G UOII3S
JOpLUOD §-G UOII3S
JOpLUOD §-g UOII3S
1OpILOT) §-9 U013
q/es'a/eyq/eg 112330

9z 1B3g
T IBEg
T IB3g
IT1eRa
£6/2 1212
£/T1E830
THTEIeRa
Tr/a/s 1m3g
ENIEEh ]

uol13I35/|Ie33q

W O + 05T= P Jooy-2dns e(djzals

Suippe|s pajyoig

SWELL MOPUIM 3535

SWeipoop (23 [3ued Jnog
edpag

sadid Joy3gny

35
Buyieo vy sajuoad 3335
00Z3d
09€ Yo'y 2X00TXOOTE SUWN|O3 3315

|em pRys (233

W2 0T = @ 28eu/aip J31emuzl
Y-0tT-3H
0zz 3d
ww gz =y '2g'0 - p 319(d Joou 3315
v-08T-3H
Jusuodwod swey

uO0I323]]02 NL

Sulppep [333 pajeanuo)

Suedy/MpUES (PUBMUIULIG

W T= 4 (3215 pajewnsa) sassniL
suims Bujjie (2815
¥ 097-3H (3215 pajewiysa) 3|0ud 2318
027 3d| (2215 patewnss) 3| youdzas
W3 §T = @ SBeuleip JmEmUlRl (3315
¥-00Z-3H 3|00 [Ea1s
¥-002-3H 30t Rals
¥-09T-3H 30udj3a15
Ww ST = s3je(d (3335 390D UOREIRUIA
Suippe|? 3335 payednuio)

0Jd-7

W 7= pIee|dyepe uzjmsiend
Ot = q 5uize|3 3j5Uls 2WeIMOPUIM

00T H 3|yoidjaaig

0T 3dI 2lyodiEEg

08 3¢/ 2|poidjs

101U

00T 3d| 3|oudjaas

JuUaUOdWO) IWeN

uon33|103 1M3

19



UONINNSUOD J3MOL
UONINNSUOD J3MOL
UONINNSUOD JFMOL
UORINASUOD JFMOL
3PISUl UORINISUOD
3pISUI UORINASUOD

FLCe)
si00)4
3pisu| apexsnjeg
Spisu| =pensnieg
=pisu| 2pansn|eg
pisuU 5|2 UDjResedag

J0URE UORINASLOY Alewlg

Spisul 5|jem uonesedag
pisu| apensnjeg
apisu| apensnjeg
3pisu| apexsnjeg
Spisu| =pensnieg
=pisu| 2pansn|eg
=pisu| 2pensnieg
Spisu| 2pensn|eg

Pul 0] 2U3YyMm

J3MO] 3PROSN|BQ PUB SIIBIS JO JOD|L S PasT)
3J213U03 Ul paIN0g

(s100p) saje|dimisel (3335 Hupesg

J3M07 Ul £100]} BUlesq swesg

uwn|od ZT Nig 4o do3 uo Joojy sy Suueag

SHOq LM PRYIERE 'UWN|0D 7T NI 40 903 UO J00y 5 Suuesq 3|youd 35p3
S|jem uonied Ui IoUS)UI AfIed “IOLSIE U} JO SBWELMOPLIM [y
5}313U03 P32OJUIRI JO0 JSI} PUB 100 PUNDIS U]

s 10 dojup

|08 M3IDS QM P3YIENE ‘SWesg
UJ UWN|03 T NIJ 03 PS323UL0Y JO 3pRisn|eg Bulieaq ‘doy uo 8T 4NN J3yous Sulest
5Uloo|) 3peisnieq sy
UO3INASUED Alewyd 03 UDRIZULOD |2 ORI
LORIFULL? ||EM JOLEIUI O3 PEHIRULLY ‘LRINASUOD Aswid JouEpa

sweipoop (333 [2ued inog

apeusnjeq sieig
100} PUO33S pUE 351y 3pensnjeg Suljiey

apensn|eg Jooj) 35

i sweag

Spensn|eg JOoj) 35l SWe3;

2pensn|ag Jooj) 3s.

4 SWeag

2pensn|eg Jooj) 3s.

4 SWeag
Sulp|INg Sys 3pISUI 3PESN|Eg 33 403 SUWN[O2 SY

uoReW.OyUI [BUOIIPPY

w31shs Fupaap Jooj4
2315 |2ImpPNns Mean
2315 [2ImpPNAs AMesH

5 [2nponns Avesy

[3335 [2Un3onAs Aveay
e |mimpanas Aveay
SSWERIMOPUI
[EEERIEERTITIER]
wayshs SupIap Jooj
3335 [2Un3oNARs AveaH
s5U)|12) puB s3sEDURYS
3335 [2Un3onAs Aveay
e |mimpanas Aveay
ssweipoog
sBuljies pue s3sedTIEG
sBuljies pue s3sedTIRS

3335 jainpngs Avesy

5 [2inponns Aesy
3235 [2Un3onAs Aveay

s [2nponns Avesy

293 [umyanas Areay

JuRUOCWOD jo uoILNy

(3-19v9) 6E-S1 sieRq
(3-19v9) 6E-S1 sieRq
(3-19v9) 6E-S1 sERq
(3-29¥9 ) 6e-51 S|€IRQ

(61-N-LL19) 62-G1 Sl
(61-N-£118) 62-5L sE12Q

(£-N-£119) z1-61 slielzq

(£-N-£119) 21-61 s|ie1a

(&-N-£119) Z1-GL s|ie12Q

(&-N-£119) Z1-SL S|ie1Ra

(E-N-£119) Z1-SL S|iE13Q

(E-N-£119) Z1-5L S|iE13Q

(e-N-£119) Z1-5L spesq

(e-N-£119) Z1-51 sesR

(£-N-£119) z1-61 slie1eq

(2-N-£119) z1-61 s|ie1a

(2-N-£119) Z1-GL s|iel2g

(2-N-£119) Z1-SL S|iE1RQ

(2-N-£119) Z1-5L S|ie1RQ

(2Z-N-£119) z1-5L s|ie13g

(e-N-£119) Z1-5L speq

uU3WNI0p paraLRRY

13Ma) D-] UOIaS
13Ma) D-] UOIaS
13m0y ue(d J00j4
J2maoy uejd Joojd

UORINASUOD UOJ| JOO| LOIIAS

UORINASUOD UOJ JOO|3 LI
g-q LoRIaS
g-q UomIS

wiopeid B335 RUS| M3

8 WalsAs UORI3S [RI[WEA

§ WalsAs UORISS (231

g waishs ug|d Jooly
g wasshs ued soo)y

g wasshs ugd Jooy

+Zot SIESS M3lA § W3SAS uejd Joojd

wiope|d (3315 YiBu3) MR
UojyI3s [BUIpNYBUDT
Uo3a3s [RuIpnIEUC]
Uoya3s [2uipnyEuC]
uoya3s [RuipnySuC]
Uopass jguipnyfuoy

uonaasg/jerRq

13150 30| (335 PajeIOp3g
22 dN| uwnjod
8T ol weag 3315

TT 4NN wesg

2€ dNI weag 3315

92 dn 2|youd a8pa 3axg

SBWEMOPUIN (331
3315 JusWaOLIBY
wwg=p sed peay
8T dhn 3o 3335
s3Wel pajelonsd (3315

+T &N 314od 33p3 3215
¥E dN| uwnjo? (3335

si00p 5385 335

pHesousd 06 = § (2T dNN Wesq) siEs

W 5§ = @ 5ujiey
TE NI weag 3335

T oMl Wesg 3335

TT 4N Wesg 225

T 4Nl Wesg 225

T3 wnje3 (335
JuaLOdWo) 3weN

uonIa|el 59

20



APPENDIX B — ENVIRONMENTAL IMPACT

Figure 1 : Description and activities per phase of LCA steel products (Diagram based on information
of the report of the European Commission (2002))

Phase 1

Production of Intermediate Steel Products

Description

Manufacturing of semi-finished steel products such as coils,
plates, sections, etc.

Key activities

Raw material extraction, refining, casting, rolling, and initial
shaping of steel products.

Phase 2

Production of Finished Steel Construction Products

Description

Transforming intermediate products into finished steel
construction materials.

Key activities

Cutting, shaping, coating, and other finishing processes.

Transport

Includes transportation from the steel mill or stockholder to
manufacturing facilities.

Phase 3

Construction Phase

Description

On-site and off-site activities involving the assembly, fixing,
and erection of steel products for specific applications.

Transport

Includes transportation of steel components to the
construction site.

Phase 4

In-Use Phase

Description

Encompasses the entire lifespan of the product within a
structure or building.

Key activities

Regular maintenance, repair, and potential replacement of
steel components.

Phase 5

End-of-Life Phase

Description

Deals with the demolition, deconstruction, recycling, and final
disposal of steel products.

Key activities

Salvage for reuse, recycling, or proper disposal.

Transport

Involves transporting materials from the deconstruction site
to recycling or waste treatment facilities.

21



Figure 2 : Environmental impact per lifecycle phase of common steel components (Diagram based on
information of the report of the European Commission (2002))

Environmental impact per lifecycle phase of common steel components

O Etc.

B Maintenance

B Fabrication

M Production

0
0
0

0
0%
0
0
0
.

(M) Adtaug

{rw) A8ieug

{r) A81aus

{rw) A81eu3

(M) Adtaug

{rw) A8ieug

{r) A81aus

(M) Adtaug

(23] DN a1

{rw) A8ieug

22



Figure 3 : Overview of a typical steel production process model utilizing a recycling and b reuse
(Haas et al, 2017)

(a) (b)| Mining of Extraction Smelti Jrcn,
A S ng aditi <
vign =M rironore | 0| ironore | 30| B
resources and scrap
v
Forming of
billets
Miningof | | poaction Smeltin Iron, ‘ :
virgin > 7 > 8 Lyl additives, Rnll|l}gol
resources 1ron ore ron ore and scrap mu"gd
shape
: ¥
Forming Transportat
billets ion to fab.
sh
; :
Rolling of St
required Fabrication Shop ‘
shape Cut
»{  Painting < P“""‘? <— member to
¥ end details length
Transport Transport T .
10 fab. 1o steel v
o s
— f Storage Transpon mill
Fabrication Shop 1o site:
Cwt Remove T
Painting <= e:""r:l:k <€~ member 0 | T ‘ R
length material Assembly R
1 Inventory of the Storage nateddl
Y T structure
Tanspen t ! t |
10 site i
Shredding Removal of Service life Inventoryin
‘ paint, rust, of the g Shredding
e 1 etc structure
ssembly
of the 3y 1 [
structure Refnomal of
‘ Expost paint, rust,
Reuse with steel ete
Service life end connections
of the *_.;* T
s Reuse without
Unbolting Flame cut .
‘ Recycling steel steel s corriectons
Demolition Break Sott by members members
ofthe = down large il ‘ ‘
structure items
‘ Remove Remove
ﬂezi ste; Recycling
Demolish Break
‘ remaining = down large = :::::;l
structure items
Waste l

Waste

23



Figure 4 : Sub-processes unique to a the recycling process and b the reuse process (Haas et al, 2017)

()

Demolition

345 hp Hydraulic Crane

v v

Dust Control

Sorting

A\ 4

345 hp Crawler Loader

Removal

\ 4

400 hp Dump Truck

Shredding

A\ 4

345 hp Hydraulic Crane

8000 hp Shredder

200 hp Grapple Crane

Coolant Water

Minimills

\ 4

Electric Arc Furnace

(b)

Deconstruction

»
>

Gutting

\ 4

400 hp Dump Truck

v

Dust Control

—

Steel Removal

\ 4

160 hp Lattice Boom
Crane

85 hp Forklift

345 hp Hydraulic Crane

-
>
s

345 hp Crawler Loader

Ladle Heating

Transportation

A\ 4

210 hp Flatbed Truck

Soaking Pit

Hot Rolling Sections

Cleaning

A 4

Sand Blasting

L2 2 20

Coolant Water

Figure 5 : Emission reduction for steel reuse compared to recycling (Haas et al, 2017)

Metric Emission reduction (kg/tonne)
co 0.55

NH; -0.30

NO -0.91

PMg 0.07

S0, 230

C02 618

CH, 156

N,O 2.94

Water (L/tonne) 37,600

24



Figure 6 : Finished steel products categorized by its intermediate products (European Commission,

2002)
Finished product 1IS1 intermediate product
Girder hot dipped galvanised coil (BF)
Lintel hot rolled coil (BF)
Road barrier hot rolled coil (BF)

Post coated inner wall components

cold rolled coil (BF)

Doorframes

hot dipped galvanised coil (BF)

Insulated inner wall box

cold rolled coil (BF)

Metalstud wall hot dipped galvanised coil (BF)
Services hot dipped galvanised coil (BF)
Light gauge steel (housing) hot dipped galvanised coil (BF)
Purlins and rails hot dipped galvanised coil (BF)
Composite floor decking hot dipped galvanised coil (BF)
Composite sandwich cladding panels organic coated flat (BF)

Roof plate (coated) organic coated flat (BF)
Profiled cladding and roofing panels organic coated flat (BF)
Tapered beam plate (BF)

Trenchsheeting hot-rolled coil (BF)

Heavy structural sections 90% sections (BF and EAF) 10% plate (BF)

Figure 7 : EPD production routes and their environmental impact (Duurzaam in Staal, 2004)

Environmental profile for structural steel

Environmental profile for structural steel: data quality = good

Structural
steel for

Structural Structural  Structural Structural
steel for steel for

heavy-duty medium-dutylight-duty

heme Unit
steel for steel for

interior wallsroof and

applicationsapplications applications facade cladding]

Toxicity to humans kg 1.4DB  2.9E+01 4.4E+01 5.1E+01 8.5E+01 3.8E+01
Abiotic exhaustion kg Sb 2.8E+00 5.5E+00 5.6E+00 6.9E+00 4.4E+00
Ecotoxicity of water (fresh water) kg 1.4DB  5.7E+00 8.4E+00 1.0E+01 1.6E+01 7.5E+00
Ecotoxicity of sediment (fresh water)kg 1.4DB  9.2E+00 1.4E+01 1.6E+01 2.7E+01 1.2E+01
Terrestrial ecotoxicity kg 1.4DB  1.7E-01 2.6E-01 5.9E-01 6.0E-01 2.1E-01
Acidification kg SO 3.0E+00 5.2E+00 5.5E+00 7.3E+00 4.2E+00
Over fertilisation kg POs-  4.2E-01 8.54E-01 7.8E-01 1.1E+00 5.9E-01
Greenhouse effect kg CO,  4.8E+02 9.4E+02 9.5E+02 1.2E+03 7.6E+02
Photochemical oxidant formation  kgethyl  5.1E-01 8.0E-01 1.0E+00 1.4E+00 7.4E-01
Ozone layer depletion kg CFC11 1.1E-04 1.6E-04 2.0E-04 3.2E-04 1.5E-04

Product group Production route

Heawy-duty applications 900 kg steel beam (10% BF and 90% EAF) + 100 kg steel plates (BF)
Medium-duty applications1000 kg hot rolled steel strip (100% BF)

Light-duty applications 1000 kg Sendzimir galvanized steel strip (100% BF)

1000 kg cold rolled steel strip (100% BF)

Roof and facade cladding 1000 kg organically coated steel strip (100% BF)

Internal walls

25



Figure 8 : EPD of Portland Cement (Cembureau, 2020)

ORE ENVIRONMENTAL IMPACT INDICATORS: 1 tonne Cement CEM |

production

Parameter Unit A1-A3
Global warming potential total (GWP total) kg COz eq. 803
Global warming potential fossil (GWP fossil) kg CO:z eq. 803"
Global warming potential biogenic (GWP biogenic) kg CO:z eq. 0.222
Depletion potential of the stratospheric ozone layer (ODP) kg CFC 11 eq. 1.8E-7
Acidification potential, accumulated exceedance (AP) mol H+ eq. 1.82
Eutrophication potential, fraction of nutrients reaching freshwater end com- kg POs4 eq. 0.000324
partment (EP-freshwater)
Eutrophication potential, fraction of nutrients reaching marine end compart- kg N eq. 0.51
ment (EP-marine)
Eutrophication potential, accumulated exceedance (EP-terrestrial) mol N eq. 6.01
Formation potential of tropospheric ozone (POCP) kg NMVOC eq. 2.33
IAbiotic depletion potential for non-fossil resources (ADP-minerals and met- kg Sb eq. 1.82E-5™)
als)
IAbiotic depletion potential for fossil resources (ADP-fossil fuels) MJ, net calorific 31307

value
Water (user) deprivation potential, deprivation weighted water consumption m?® world eq. 14.1"3)
deprived

26



APPENDIX C - COSTS

Figure 1 : Overview of possible test methods that needs to be conducted for reuse of a steel element,
divided into the three most expensive test categories (constructive safety, fire safety, wind load

calculations)

Constructieve veiligheid testen staal element

Inspecties:

|Aanvu|lende informatie

NMateriaalinspecties:

Chemische Samenstellingstest (NDT)

Spectometrie, XRF, Oxidatiereductiemethode

Mechanische Eigenschappentest (DT)

Trekproeven en slagproeven

Ultrasone testen (NDT)

Voor interne gebreken of discontinuiteiten

Hardheidstesten (NDT)

Sterkte en slijtvastheid, methodes: Brinell, Vickers en Rockwell

Lasinspecties:

Visuele inspectie

Scheuren, porositeit, slakinsluitingen, onvolledige fusie

Penetrant Testing

Oppervlaktefouten in niet-poreuze materialen te detecteren

Magnetic Particle Testing

Opperviaktefouten detecteren in ferromagenetische materialen

Radiographic Testing

Interne gebreken in de las detecteren

Ultrasonic Testing

Interne gebreken in de las detecteren

X-ray Computed Tomography

Driedimensionale beelden van lasverbindingen

Conservering inspecties:

Visuele inspectie

Blazen, barsten, krassen of andere gebreken in de coating

Diktemeting (Magnetische industie meting)

Vereiste laagdikte weten want essentieel voor effectieve corrosiebescherming

Hechtingstest

Hechting van coating aan opperviak via insnijden ruitpatroon

Zout sproei test

Beoordeeld weerstand van de coating tegen corrosie

Brandveiligheid testen staal element

Inspecties:

|Aanvu|lende informatie

Coating staal inspecties:

Visuele inspectie

Blazen, barsten, krassen of andere gebreken in de coating

Diktemeting (Ultrasone meting)

Vereiste laagdikte meten want dikte essentieel voor brandwerendheid

Adhesietest

Hechting van coating aan opperviak via insnijden ruitpatroon

Cohesietest

Beoordeeld interne sterkte van de coating

Zout sproei test

Beoordeeld weerstand van de coating tegen corrosie

Hardheidstest

Meet weerstand van de coating tegen indrukking of penetratie

Blootstellen monster aan vuur

Vuurverspreiding, rookontwikkeling en productie van giftige gassen

Windbelasting testen staal element

Inspecties:

|Aanvul|ende informatie

Materiaalinspecties:

Chemische Samenstellingstest (NDT)

Spectometrie, XRF, Oxidatiereductiemethode

Mechanische Eigenschappentest (DT)

Trekproeven en slagproeven

Ultrasone testen (NDT)

Voor interne gebreken of discontinuiteiten

Hardheidstesten (NDT)

Sterkte en slijtvastheid, methodes: Brinell, Vickers en Rockwell

Lasinspecties:

Visuele inspectie

Scheuren, porositeit, slakinsluitingen, onvolledige fusie

Penetrant Testing

Oppernviaktefouten in niet-poreuze materialen te detecteren

Magnetic Particle Testing

Oppenviaktefouten detecteren in ferromagenetische materialen

Radiographic Testing

Interne gebreken in de las detecteren

Ultrasonic Testing

Interne gebreken in de las detecteren

X-ray Computed Tomography

Driedimensionale beelden van lasverbindingen

Inspectie windbelasting element op nieuwe locatie:

Computermodel windbelasting

Simulatie van de windbelasting op het element

Structuur technische analyse

Beoordeling welke versterking nodig is bij element middels computersoftware

Prototyping

Testen van prototype van element door deze op locatie te plaatsen

27



APPENDIX D - LONGEVITY

Figure 1 : Seven principles of connections ranged from fixed to flexible connections (Durmirsevic,

2006)

flexible

fixed

type of connection graphic representation dependence in assembly
|I] Direct chemical connection 0 2
two elements are permanently fixed (no ml——ael2
reuse, no recycling) el2 It
direct connections between two 1 1]
pre-made components l—p
12 ell—e al2
I i

two elements are dependent in assembly/
disassembly (no component reuse)

@ indirect connection with third
chemical material

two elements are connected permanently

el
% m1
el2

with third material (no reuse, no

m1

alt al2

direct with
fixing devices

two are with

which can be replaced. If one element has
to be removed than whole connection needs
to be dismantled

el

cl

ell el2

indirect connection via dependent
third component

two elements/components are

with third element/component, but they

have dependence in assembly (reuse is
i )

el
cl

oll—=ct—gl2

HEBHHAHD

indirect ion via indi | " l_.“ el
third component c1
1 ot Te2
there is dependence in assembly/ 12 12
disassembly but all elements could be T
reused or recycled 2 c2
indirect with additional fixing device a3 el

with change of one element another stays
untouched
all elements could be reused or recycled

e3—»Cc+——el

ez

28



T T T ATy

SR
S
= B

e s

R R

£ DI
S
T

e 0 e RATLESSS

R T

,;35/2593577335552529,
R L
SN 8
R R T R R

= .
R
BRI

PN

/
d

-

2

7

<

7

~reuse p
steel pra

7
7
77
.

~

R
TR

RN

RN

7
7
o

7
Z
7
7
%
7

7
7
”
7
Z
7

7
7
7
7
z
7

Z
7
7
7
7
7

7
7
7
7
7
7

7
7
”
7
Z
7

7
7
7
7
z
7

I

AN
A
W//////
PR

S

R

R

R

ek ade
FEFEEREEEE

no reuse:

29

type of assembly

star assembly

L

0.2

R
RS
AN

RN
i

%
é
e e

connections

Reuse potential of steel products depending on type of connection and assembly
type of

(Durmirsevic, 2006)

Figure 2

-

0.8
0.6

c-&-2
IX&‘I
=ul BN
-
0.2 ///

@ ) [} ) @ ]
< >c >c c £ c
8 S S S =g — 9
= =0 £ _ ol _ £ 2 0 T 2
8 288 Tae E3 238 g3
gt skt g8t gt BEY &
L5 FRe] 288§ £5 L2653 25
0 O @O @0 £ 0 T oD ERE]

stuck assembly



APPENDIX E — VALUE ASSESSMENT

Elaborated version value assessment of steel components EWI

Figure 1

30

W

Gupang 24 woL U

uosezwened o) 3np ysiy uonypuod 12eyad a3uas jo adi uo Bupuadep
. B LodSUE.] 1980W0T MO 0w o) Aiaunsew Areay p3au poe|
LRooWS € aAEY SINP SIS JaUN0 'apeIe) snawoy ‘fiqusasse uado B . SAMUD DWeES auuozOo by 056
oRemuen g een pue | PO BSOS Buod oy x 1 551UB UonERUSA D 1571 ‘o3mop Uouos WopRdopu | SRUOR § o snipel ebei0js yag N1 mumum_sﬁ_hm. i !-Hwﬁ?_wn.ﬂsm; fa ssvosxes pue kddng 4By (43 19318 (£w pd yBH bt ]
JEam mays 9pEdE] SHUD 10 Junowse Yy cywnpery e saopop Bupay [EUOMAPE g Busans2y 07 ) Ay 2 jo pa uades wpspy
UM LUBS3ULDY [BUSTS 1338DY Utou U 3FEUNOUISP Ase3
waipsae uogpuoD 12as jou pEaib suonIRuL0) jeapE e
Syeayreds ou wooy USIIEG SIURA SIRIS SATSI ST 0U SIRTS anpu 3 sued Pwo fowussse ﬁ«au_au h% piedde 51 1 vun 8, & Asa) awes L]
[ELONIUN B ARy SIEYS | Joually Joj pasn Buneod x J0UBIE ISTU J0 JNoWE oS (@12003 u pariod el sbeiois yaa nL Lo Bupuadap Aeuydew Aneey 23 34} PUE ARjEs Sanua- auLE00 04 031 (gwz's) ma] sBuye) pue SasENRIS
“S3nALICY § J0 snpes Emanis ansuade | Aq sanoaye pue Rddng | wnipaw 0431315
Joudles ‘wau e dap | sspwod ‘pezaened dp WS 215 s0uapeg 1) UK 33003 [ LB 13HD. - 1) sy pURSGELINOWEP ASe3
= Buptooy sBupes souaw) | 1o UsYo SIS Jouspa ‘suers sxs3u00 sBuges wey e sny | 1A Ee
pue ﬁ;hw.m SMays o sl BLIPING WO PINDW) 3G LED uogenSUl punes
i il Sy 1a ‘Bunse Euol 1ou N SBUIBY) MODUIM JOLZIS Kiquiasse »ors ‘auap Buny 19810 Wpau sbesr w20 L ‘_x_xn P P . Samua aues auuoyzOo By 056 (v -
e | parena sepmd vaue s 0 9 ens o unewe WIS [ELCRPE LM UCHIBUI02 03] | "SaNSWON| g J0 Supes e i e fig sanozye: pue fddng ubly Q3 BaIg . v
2P =y 066 L U1 SHUBLMODUIA g Bunsaney o RS R Ay B
a1g j2AD |l 51 uERas By |
doa | Coenonin s e
___M“yhaz_f‘:.u,.aﬁ Tarormon Bayoe| B jou M P —— n!vi_uuMBEo?h&E e wnpsw [P Assunysews fnesy e o uopsss | | SRS suucyz Q) B 058 P -
OO | e ko o sameap By Fuonppe ‘SO G J0 SUPES 10 PR i iou gRIOURp RiSeI | Lo 6 oo, | 104209 pUR fyddng 4B Qa3 PAIS
pue Jeau. 1biys ywa Sio00| PasBq BugEod B UV UONDUN0Y [BUsSTS APy | L Bunsaney oo I
Uorypuo 1226 yodsuer GONESU PGS pue
. fowssse usdo sued asu moj syl uonedde b
Euou sy A | uges (A Lwn wed ) 1oedu0d wipaw jewway) ‘Bujooidiaen saipua swes: auucyzOn) B 15/
b oo . o d yawpues sysod
I Bo0pU0D BB Ul | pasaq paNE0d pMed x o o Pﬁ“ﬁaaﬁi “sanawop|  Jo Supes AU L S Emwhs._ﬁm!ﬁ.m..! U peoj pUM ‘Kj3fes | AQ JaADaNel pUE Rddng | Wnipa (143139 (a0 01 SiEEd LapUEs ssedues
§ e B L Bunsanseny e ' IGERMOWEPAISES o)y awsuadia wnipap
wodsuen
#uiasse pajate ‘sasap Bununsuaa auy
uompuo? 1ead u ms 12eduo) wipsw Kizes SaMUD Bes avuolz0o by 058 ’
AN . x e oy Bu [2UOPPE U SUCEAC) | 620l 420 ML U PUE 3U0 A3 210 umes . Ew Q') mo] Guia3 10 SIEM SIS 1130
paziueaes dip 10y UBLC 15390 § U303 4 deus 13340 ‘SN  JO SIPES 53 01 Sy ‘SgEINCWP AfSE3 10N e snsuadxa wnipay| Aq Jenoeye: pue Addns yiiy 043 PAIS
L Bunsaney 2207
uogpuos el Aowzsse uzdo Hodsuen SwELEp
157U 0 JUNCUR: . Buyoo,d s
30U ‘Gunse) Buol lou anisn GWAIP UOIKIDULOD WBPUIIIDU! 1260.U07 WKW 01 Asgunydews kaeay Jo paau u Y SAIMD Dwes QUUCLZ00 Y 05 "
iﬂﬂmUﬁm“ﬂwSa ‘ueByRNGEd pue xoda * 1501 j0 0w WNpaK e Sasunop Buoey [BUOHPPE | “SasaLIOR § Jo Spes HEREUN AL gy osu oy 9t x| B :r-.zM:e,_ fq savoayE; pue Rddng | anipau (143 199 Gz mo Sumoa0 s0 Bupoer> pogoic
Ue paseq Bugeed e L U0GIRULDT [PUSR 133pY | i Bursaney @oo o1 3np pue agENOWSp i5E
wnoows LogPU02 122G Hawssse uado Vodsues 12edwod
i fssuneu Anesy inajes auuiz
Bunjoo| 232ns |24 241 | U1 s ‘Gunec: jopuod Jo x L 23U3p UDNI9UU0D WIPLRERP | “SIUALIOK § JO SUPRI 2Beiis 42 NL wou ?z_wwhzn!_?wnuﬂ.wmm »a_!__ o wnpawi| fa .&Hﬂ%ﬁwﬂgm ) ocuum W_mc.mm {gw ) mo 1831 neg o
SEYEWNC0| FAZURAED | PSZWEARS GIP oy USy0 EIN LOGIRUL0D [BLREE 020U | Lium Bunsaniey [eao]
i i i ' i ' 1 i r ' WIBI565 BLNIZP JOOY SHSCAWDD)
Gupang oy
§RioU03 BupunoLNs yodsuen j2edwod
aasn (231500 Ul painod) Aguasse an0LLZ ARANIBYE O sty dew Kizes Saigua aues AUz 0 B4 008 .
p abe. . wwadiop
e wSﬁ“%M_ﬁﬂE ¥ 100 10 fisrs AEqEI yoms ‘uorzauuoa aways saaspu| | SRR S _wzw:_._ﬂ FOEURANL | typay 1o peau u pue aigEInOUSR | EINonS BusURGa | AQssnoayEl puE Addns | ‘wnipew 043 RIS fewe s men IR RIS WA
frsea Jou Aiquiasse ¥ams o) ang.
i i i i i i i i ' i s
Lo I LUNPA fowzsss udo suonzadsu
siatsin 12} pue sea Whis| o . vodsuen 12edwod BUpiNg Wwoy anowes anizgs
e0a Bupse) By & 5 ‘839p UDNIBUL0D JBpUBdY swswaanbes peol samuB Bwes auucyz
1 adwoy ‘Bungos | RS PRI TLCH € x SIS 15 O o Loopu=tPUl | “sanauwoy 5 10 spes 2beios w2 L o) Aisumyaew Aasay 10 pasu m pue As !i&u.nw p !E.ﬂ..w Reddn Pt oos (£ B¥) UBH PO [RINNG
Foul angoagea iy | s PR R A i U Bunsaney 207 w sRnainoy ‘speLnowsp Aise3 [P P . o e s P aagIEms
UM LIDND3UNO D [BUSTS | 338D Enons ansvadig
UOHHUDT
_— ﬁ.ﬂ.ﬁwu oy, | 16296 s pue Gueoa #H9sw 10u B120U02 U (@manuey vodsuen pedwod o mg_.““mj Sorneden .
S0 S IO .m:ms Guol B 51 Yo X painod swesq ‘Suwmo i painod Aped) Aqussse ‘sanawom ¢ Jo Spes abesors waa ni PR " nowsn [pum pue a0 s A EE.J.._. e . & (5w 022) ube PAIS [BININNS AdBaH
[ 22 b ‘peaeneS dp oy uayo D SRISIA T8I O byams ‘ucnaeuuea ey 13| L Bunsaniey o Al i i | 1 Proma puR Rddns e aearE
fsouspaie jemianas | 0 e KB Jou fquisssz yams o) ang] | Emanas anstsde
SNEA MELISY Bugeon s8R uompucS a uodsue)| sbescis Bupuewsip jo 253 suonasdsy| WRURIN 0L 1B [EBW-IINIT 1edun JBWNRA 1143 sdnouf
1onpod anjep
Aunabuo 56D WaLLOMUT




31

Elaborated version value assessment of steel components TN

Figure 2

B3y 2213s Jo 3dA) uo Buipuadap
. odsuen 10edwod Mo poey
DU JEAM OU UM LIOOWS ’ S3IIAIDS JOJ PASN [331S Janamoy ‘Aqwasse uado 5 Ksauyoew Areay Jo pasu 2UUOYZOD BY 056
Bupioo| svens fozys [P0 SSSIUES Buneod oy X SS3|UIEIS ‘IAGISIA ISNI ON 93P UOKI3ULO2 WIPUd3PUI _w_ﬂ__w:o.:u skl ncmu.wﬂ Sbeiors yea L i jou pue 3jqeunowsp Auses e:w,e_m:m _g ‘4Bl ad3 pAS Lol e
aU) Saew [B31S SSAUBIS. ®u 539U Bu [uonppe Skt ® >
YIM UONIBULOD [EUIIIXD 193APU]
U0NPU0D 18316 10U 1eDI6 SUONIIUUOD (U 19DAPUL
s (S s s oy sxe ot I eoge ey R (R worz00
100 H0011BUOIE & MU | 12301 10j posn Buneod X Joualus ‘1SN Jo unowe OMS (91219009 U PaInod - = abeiois Yaq L o ) sopbal bl s e Bwee soure: pue saseeIs)
Se)s Jouapea ‘Buiysiuy . 'SaIaLOp G JO Snipes Aazay j0 pasu Ui jou saseaNES | RS ansuadig wnipaw 043 PRIS
12210 Y Bupes ooy | 2PH0d pazueneb dp oxs o Buate) UOGOUOD AU 121D | 1 unsansey o0 fauabiawa ‘siqernowap Ayse
W o 104 UBYO SHEYS JOUBKT ‘Saie}s 3j219U02 SBUIRs M3) B JSnp d 1se3
ey
seam WBHS A0S MOUS UOIYPUOD WNIPIW AqsA uodsuen
y . 3jqeIunowap Asea uorejsu punos
SAWBIPAOPUIM IBYIO) i ‘Bunsey Guoj Jou s ou anpnassadns Aiquasse yams ‘ao1nap Bunay 12e0LIOD WNIP3W % BuuoyzOD BY 056 .
%00] Jnseid JaAamoy | ‘Paleod Japmod UaYo S0/ x 'SLIRL) MOPUIM JOLID [EUOIIPPE LM UORIDUUOD 159 | ‘SO G JO SnIpes obeiors yoa nL .H.ﬁao_ Wu_sa:.m_v “_. «“.M& \_uE_umanB:Eea_um; ‘uby a43 PAS EGL: )
‘mau ase Aau) ax BuDioo] | -096) Ul SAURIMOPUIN U0 151 J0 wnowe WIS g Gunsansey 2307 AP 4 N
10 SR
QAqisin 1ea) UONPUO 18315 Ul S fiquiesse pajake; yodsuen ) h__gﬁﬂ.w“owc
pue seam ou ‘Buneod anig | Janamoy ‘Bugsel buoj ou ‘3013 UOI3ULOD JuapUIdIPUI 1oedwod Wnipaw Asauiyoew Areay § BuuoyzoD 6% 056 ”
iep/faiD sl e aney | ‘Ueeyiainkiod pue Axodxa X AN 0153303p Buixy [euouppe (o —— 0UOSWANL |10 poayuou Ayse3| Jouav@ Joj uonensiy 4By 03 RIS ool s
J00p SJ0U puUE Joud3 | o paseq Buneod Jied UM LORI3U0D [eusalXa 199u1pu) | uiyum Bunsaniey a0 R N
i 1 i ! 7 ’ 1 7 i i i Sjpued yompues aysodwiod
4 yodsues
Aiquasse pashe; ‘soonap Bununsuos awg
s 10N ' §ewwemou ol X QSN 1SR ON By [2UOTIPPE YPM SUOIAUUOD .mﬁaes “.;ﬂwav aBeiors Waa 11 ai0jaiay pue auo fq auo uves [ \_sﬂw nn v,:.%._ﬁonu 64086 sy Buas 10 Sjem SpiS 13l
pazered dip joy UYO 199p % UONIIUO? ) deus 1390 PO § JO 2q 01 Sey ‘ajqeunowop Apsea oy [ ANSY oo naaRs
ugum Bunsansey 207
SOURIMOPUM >
iqisin seay fiquiasse uado yodsuen Spuewsip o}
| uowpuod Jeaub u ius Japun Buippel2 Jouap@ 2 Buyoodsarem
Ppue feam ou ‘Buneod aniq | . o Sass Kiodis 291A3P UON23ULOY JuBPUAdIPUL 1980W0d WnIpaw % Asea osie Joos u Buydap paold b BUU0YZOD BY 052 B
PP UK SAULMODUM ﬁnﬁﬁpﬁﬁ e ¥ ﬁhﬂ%»ﬁésﬁt&%ﬁim €A 90109 Bundy [eUOWPPE | SR § J0 SNIpes HRURANL | frouyoew kreay ou ‘haussse | PU%FE P _H.N sal ‘Wnipow (3 RIS e D299, o Duppero posoLd
Japun BuippeId 3 o e 1S ON M UOD3UL0D [eUIaa 13pU] | i Bunsaniey 207 j9ifesed 0) 0 3jqeiunowsp Aise3) : <
woows uonpuod 1easb Aiquiasse uado vodsuen 10edwod
Bupjoo| adepns [331s g | ui s ‘Buneod sapmod Jo X (s jsns o 301A3P LONIAUUOD JUBPUAIPUI | ‘SAIBLIOR G JO SIpel abeiols Y2 N1 i WWHWE ?mﬂhuvwﬂuw uevﬂ._ v:;«,m U.m“w.n_mv&. o,.“__m.“__\wﬂws 02 gwr 19315 36029 WO
S9ew 00| pazZIUBNRD | PaZIUBARD dip 104 UBUO BUA UONIBULOD [EUIBIXD 1004PU] | I BUNSOAIRY 207 e i s
Ksuyoews
uowpuod ealb fasru figwasse ajfesed ‘(9315 sabewep | podsuen 1oedwiod Aneay spasu pue ansuajul Inoge; o e
JQISW 10N u s ‘Buneod sapmod 10 X iou Aiqeqoud os paziueneb| Aj210A35 SqeIS 81915U00 Bumowsal) | ‘Sanauopy G JO Snipes abeiojs Yaq Nl S1 [991S ) LLIOY SqBIS U0 Jenjongs o “4on 043 fwop washs Bunjdap Jooy ausoduwio)
pazivened dip 10y UYO J3/3MOY ‘IAQISIA 1ON UORIBUUOD [EAUAYD 19350 unum Bunsansey 207 3y} 3nowal 0] “3pueLSIP 0} Ausinde saS
Asea jou Ajquasse ¥Ins 0} anq
Buping woyy
2321203 Buipunouns yodsuen 19edwiod
ECEN (21212002 w1 pasnod) Aguiasse % nowas Aaaays 03 Lsuiyoew Aoges uuoyzoo 6% 005 P
iz !ucn_.wﬁw_..ﬂ_mﬁnn e 7 * TouIng Aisn Aigeqoig s ‘wonoauos feomuau> aspu| | SRR 810 SUP BEXISYBANL | greay jo pasu ui pue siqeinowap|  [emyanas ‘awsuadkg ‘wnipaw 043 12215 gwz'g S18q 9915 WaWBIOUDY
. fisea 1ou Aiquiasse oms 01 anQ
! ! ! / / ! / i / ! ] spwr|
UoNPUO? 18316 Wnipaw Aiquiasse uado Bupng ‘suondadsul
Aqrsin 1e3) pue seam WBIS| o yiodsuen oedwod
. 120> Bunise Suoj e st ‘2auap Uon23UL0d WapUadapul | ay; woy anowas Aprzday swawaunbas peoy 2uu0yz00 6% 005 .
e Ss_mm_u yonya ‘poziened dip 10y % ATHENN ©1n S390A0p BuDKy eUOTPPE sm_wﬂwg el muwm_ aes0ls Y2a N1 o1 Aiaunyew KAeay J0 paau  [pum pue Alajes axy ‘Aiajes ‘wipaw g3 P9IS ouzs ¥ ARaEne
Pep lUsyo omaLwey; feinanss | UIM UOBI3UU0D [BUIIXE 122U Degpaies U 3ar3amoy ‘DiqRIunowap Apses | feamanas -ansuadx3
Buneod Hospod QIS 10U DS 2JD1U0D i 21249u02 vl panod ‘Aquiasse ‘suogdadsul
12916 U o area uagy | 16248 U IS pue Bueod i painod “uonpuod RUG m Hquesss e1Nd; | podsusy ey ¥oms ja31s satgo ‘Kiquiasse Swawainbas peo 2uu0Z0D 64 005
A 6unse buoj e s youm X aimpngssedns i (3}210u03 ‘Sasawopy G J0 Snipes abesois yaa NL v . ewos BRIS RIMONYS Areap |
1M ASWIRLI0 ‘SN | o2 008 i Jou UBYO 12316 Ul 2inoNASIPANS ' painod Ajped) Alquiasse g P faffesed 01 anp qeINOWaP  pum pue Aiajes a1y ‘Aajes wnipaw 0d3 pAIS
Apsow [333s jeangonag 1991 [@Ionas AMeaH SWweaq pue suWnjo) yonis ‘uonosuU03 leRuBYD 1533pU Apsea aimpngssadns ul (3315 [eamponas ‘ansuadxg
anjen agaUISIY Bugeon spapa uopuon a vodsuesy. abeiog Sunuewsip 0 ase3 1oedun 19edun oUzBWINIOA i
1onpod anjep
Kunabuo 1500 WBWUOIAUT




Figure 3 : Elaborated version value assessment of steel components GS

waws
3owsas jo 3dk uo buipusdap
B[ %00 10U p Vodsuen 12edwod mo7 poe|
’ spqsn anamoy ‘fiquissse uado 5 Koauydew Kreay Jo pasu senua awes 2uu0VZ00 6% 056 g
0p '163] pUE Je3M IS i X X % 'Sa1BWOD) G JO SNIpes abeiois Yag Nl puva pue Buyoosdiaem 5 fw g saamg
WOYS SWIISAS DG ST 4O JUnowe Wnipaj '201A3p UOND3UL0 JuBpLBdaPUI U Busaasey 12207 unjou pue 3jqelnowap Ayse3 aNSURGXD WNpony Aq sanoaxe pue fiddng uby Q43 1PAS
248 5301A3p Buay feuoppe
AN UOIFUUOD (BUIDD 192APU]
“SUOO3ULOI [BUISNE JAMO}
00| eUIsapUl s, Suis pue apeJisnieq jo suied 1ol wodsuen A
a0 seoed usoady EM: percs Bumous X SN o ne X Pasengs 5 pasuyu uo fapuedep | | joechtios el 9601015 WaQ NL. dﬂ”ﬁ“ u u.ﬂﬂwﬁus Aufos 28 P froges Ao e £ sbules pue saseasels
3410 9SNEIAQ PAWNA S 5500, ‘paziveNRS) wibis ypm speasnied ‘Ajowiasse faijeJed pue SU0GIIUUD| S0P § 4O SNipes Apsea jou 0y "gsed woy Guey | TIIINIS Pwsusd | Aq sasoane) pue Addns ‘wnipaw gd3 PAS
2 20eid 3wos 1e 6unjoo) [ewap@ 0} ‘Aiquissse Yoms ungum Bunsaniey (2207
PUE SUOIAUO (WD 139310
" apeae) Jouapd BUewWSIp 0] Japsey e asay)
X0O{ [EUISNPUI [BL0ISY. 1o Sausely Jo 10 o) s apensnieq aul p-a&eg ‘SHEIS 10 3PEAISNIEQ 0} PIPAMA uoneinsul punos
nsu ssei0 1 x 1SN 0U AINYINNSIAANS x Jeau ‘suon n 1Pt aBeiois Yag N1 ued fysea SINUD WS 2uuovZ00 6% 056 swge SaURHMOPUIA
$100p 9915 pue iomsselb| o = e 'SBUIRL) MOPUIM JOUDIXD ( wopuadap | 10 snipes preistes Aq sanoae) pue Addng. ‘ybiy 03 PAIS
U} JO UONSOAWWIOD Bl L Ty joc 2 U0 1571 JO Junowe IyBIS [nT 1921puY; =P} 1q ssef ! N
3 13pMOd SALUBIMOPUIA, L LU0} 3(QRIUNCWISP 10U 3Rl ]
“ st 99ds.
%001 [eUISNPUI fedU0SY paddd Aquasse paiakel odsues _«m,..w,ﬁruwégu
MeRaRpI s | - Uombuoy Kb o X ot x s . aBe10ls aq NL ARRENRL MY JOUAD 10} UOTRINSUI S 3UUOZ00 B 056 Wiz SaUeII000
S100p 331 pue ypomssel6 | ‘ueeyainfiod pue Axode 151U J0 Junowe WIS 01 52013p Buy [euoiyppe 'SanaWOp S JO SMpes 10 P33U Ut 10U J|qEIUNowsap Ajise JeuwayyBuooidsaen Aq sanoaxe) pue Addng by 943 PAS
2y} Jo uomsodwod L | uo paseq buneod wied 0 1aApY; n 1 ansuadxa JoN
1 ’ 1 / ! / / i / / ! i ! sfaued yompues sysoduiod
D vodsuen
150 Jo sadeyd aprads sieak asay) e Aquiasse pasake) ‘seanap Bununsuod awn
34} Jo 85N33q PALING S1 | I} UOWPUOD 153G 3u) Ul X . Ezn a@Sﬁ on X 5 [PUOVPPE LA SUORRULD | wedwod .5.”. aBes0is Yaa N1 210j310) pue U0 Aq 3UO UMES o%ﬁ:ﬂo wn - S xﬁw&: J__.,N_ﬁonu 61056 fwy Buas 1o SiEeM SPNIS e1RH
21 39e1d 3u10S je 6001 | 10U BKAMOY ‘PZENED ¥ 1S 19019  uonsauuod y deus paag | IS EORE 5q 01 sey ‘ajqeiunowsap Asea yon >4 I 0 RO RS, sl
00| n—_— Aquasse vado uodsuesn Buyooidizem
[RUISNPUL, SE PRIFPISUOD b R Buippe; Jouap® Uo 1Sy P Ul wp: S AKiaunyew Areay ou ‘Aquasse 5 S200UD dweS U0VZ0D B4 052
oqub sanamoy | IR Eh * Jo nowe ybu o) wnipary X p o1 G J0 Sipes EUANL  opesed oy onp Jgen] PR LSIPOM ReRS S| & fiddng | ‘wnpaw Gg3 PaIS L & Dy N
'BGISUA J83) PUB JeIp et V28U a2l i
99ds sieak asay1 fjqusasse vad ods du
zw_mh.hﬂwuﬂm h_:x. 1| Jaye uowpuod ﬁo.m auu X - 1 x ‘2a1map - u | . ...u“_uu“o mn.ws abeiols Yaa NL w300 _!wn u__:%. oo uwﬂm o) iﬁ:ﬁﬁm e 23 w0 e o J.E..&Oo ﬂr el fws 12315 36n2 W1
41 2261d oS 1 Bupj00| 10U JoRIMOY ‘PIZIVENED r o en . 1ampuy . Y P fise3 U0 LINPIY fanoag 'S 043RS
' t ' / ! ; I i i 4 ! ' i wisshs Bun23p ooy 3psodwon
! ' () I 'l / ’ J ] i / ' / Sieg [B3IS WAWRIIOWIRY
P ayqisin Apeap Js1s 10 nouwe Wnpaw — ‘Jodsuen 1oeduwon Bunnsuoa awn si siug mcsznm.zhns .
oors painojoa kismyy | 19U 42A3moy ‘paddiyo s X 2 aney asay) ‘apede) Ui X Jeonueyd ‘aimonns o popopy | SSIPLIOM o snipes beiols Yaq L | PUB AInjased pANOLIRI 2Q VBB |0 o koo o sxioee g sanoaen pue Addng bl G fwzy siown
Buneod wied 3u; Aigeqold 2(qisin $36pa oS AUO % U Bunsaniey 2207 S¥ouq ‘aigenowsp ApseatoN [T Sl uada =
/ i 1 J 1 ! / i J i 1 / ! HomBwey feinonis
%00 (apedey puewsip _—__
leusnpu; painoiod abueso Jouaia uo ayqisia ‘seeanm odsuen 12edwiod 11523 Sweaq ‘spueLLISy
|a10wAue pooB Bunom joul om_xn_v (poaviouq usamaqu) Aquiesse | JocsEn EoP ﬂ. 2 » Swawanbal peo| SHNUD HUES AUuoKZOO B 008 i
oo s s e et s ety X 01 pasodea sweaq) X s gvinans gl g AR 5 0 oIS W2q NL o fos sy o pepwmotpen: | o b il o paipitog | Wopess aipives £wzoL 1315 [RINONAS AreaH
1.3np Janamoy ‘210D 15710 JUnowe Wnipaw g Bunsaney 2207 P sk g womppurns (V10
¥0B1Q 219 SWEq AL Sweaq pue suwned ase suwnjod (23ls Aneay swos
ANEA JUISIY Buneo) SPYPQ UompUOY doueWIoPIY Awgeunowaq vodsues| abesos Bugewsip jo ase3 suondadsu) WRWIND0IY 19edwi [EIUBWILOINT 1oRdWw JPWNOA $9sdnob
npoid enjep
Awabuoy SIS00 WIS

32



Figure 4 : Decision chart fixed and flexible factors

— Fixed factor

~>[ Performance

Flexible factor

I= there encugh time and

—>[ Coating ]—

P! budget avalable to apply
J
ENVIRONMENT Does the component meet s Is the coating chippedinot covering new costing?
requirements for srength. stifress the full surface of $ie companent?
and hardness?
D' i
—>[ Ease of dismantling I
-—>[ Defects J
J
Does @ take heavy machi )
is it dear of = severe amount of i3 i
expensive labour and = & fime
bends, dents, oracks or hales? P
consuming to dismantie?
5 3 —>[ Demountability : ]
Environmental impact ) —> Transport
I= the component cannected n )
. such a way that it is possible lo k5t 2 long distance between supgly
Daoes it have a high enveonmental dismantie i without damage? and apply and = packagng the
impact? component ineflicient?
- - arect exiema a2l ar "
Voluminous impact ) Storage }— o} I there encugh time and
) budget avaiable?
I= the storage in an expensive area
Does # have a high voluminous o B
and does it need 1o be slored for an
impact?
extended period?
aon
% [ : : m J}—
~—>[ Condition
Are there many inspections needed
Y that nvolve expensive testing
Is the surface of e malerial dear eguipment?
of a severe amount of rest?
Aesthetic value
—> Procurement
s the sppaerance af the J
companent pleasant to the applyer? I= 2 difficult 1o acquire components
and = the process of supply and
takeaver inconvenient?
Aesthetic value

Is the appaerance of the

companent plessant to the applyer?

33



